7.3 Output profit and loss

7.3.1 Revenue

¢ The demand curve for a monopolist is the market
demand curve and slopes downwards from left to right

The market

o) price will be (DD/AR). See the top graph in Figure 7.1.
revenue determined on e Any point on the curve is an indication of the quantity
the upper part of of the product to be sold and the price at which trade
the AR-curve takes place.
R . * Any price-quantity combination on the demand curve is
Pal N\ also its average revenue (AR) curve.
P * The average revenue from each product is calculated
5 E — by dividing the total revenue by the quantity = the
IMR ! AR_ price. See the bottom graph in Figure 7.1 (left).
0 Lo Quantity” » The marginal revenue (MR) curve runs below the
A . demand curve (AR) - it always intersects the horizontal
| axis at a point halfway between the origin and the
E i point of intersection of the demand curve (AR).
i : e The monopolist will try to fix the price above the
E | centre of the demand curve, because only then will
I i his total revenue increase. See Figure 7.1. Note how
E at Q, total revenue is at its highest. Q, intersects the
i : demand curve of the top graph above the centre of
0 TR QuTa::tity} the curve.
Figure 7.1 Revenue curves of the individual
producer

7.3.2 Economic profit in the short term

==

N\

Step 1: Draw your two axes

First, draw your TWO axes: Price (vertical) and Quantity (horizontal) -
remember, they meet at the v/Price A

origin (0). Everything counts
for marks - do not leave out
anything. Now go to step 2.

. >
Step 2: 0 Quantity v/
The two Figure 7.2
revenue
curves start on the price axis  price A
and move down to meet the
quantity axis. Draw these
axes now. Then go to step 3.
It is easy to draw a
graph — YOU MUST
JUST KNOW HOW, /R) VAR
Practise makes perfect. 0 Quantity
Figure 7.3
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Step 3:

This MC curve intersects the AC curve at the minimum
point of the AC curve.

v Price
v MC
v/ AR
v/ 0 v Quantity
Figure 7.4

Step 4:

The most important point on the graph is where MC
= MR (look for the dot e ). At this point: equilibrium/
maximum profit/profit maximisation is reached (all the

Step 5:

This dot is extended upwards and downwards. Your cost
occurs where it meets the AC curve, and your market
price occurs where it meets the AR curve (demand
curve). Remember, a monopoly company will determine the price.

vPrice v'MC

0 Quantity
Figure 7.5

Notice how
the marginal cost
curve is in the
shape of a

Practise drawing
steps 1 to 5. Draw
these over and over until
you do not make any
mistakes. In this way you
will be able to draw the
economic profit made
by a monopoly.
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The graph below shows the economic profit made by a monopoly:

N
Price MC
AC
P
Use
these points C
(right) as a
description in an
exam answer.
AR
>
0 Q, Quantity

Figure 7.6: The economic profit made by a monopoly

e The cost structure of the monopoly is the same as that of competitive
businesses.

e Determine the point where MC = MR, the point where the production
cost of the last unit is equal to the revenue it earns (point e) - profit-
maximising production quantity of Q, on the horizontal axis.

* To determine the price at which Q, is sold, move vertically upwards
from e to L on the demand curve. The market price is therefore
determined at P.

e Total revenue is greater than the short-term total costs. The

monopolist makes a profit (due to demand and cost of production).

7.3.3 Economic loss in the short term

When you draw the economic loss for the monopolist, the graph stays the
same, EXCEPT the AC curve moves to the right - up, and totally misses the
AR (demand) curve (see Figure 7.7).

Remember: To draw the economic loss, you find the market price (OP) where the dotted
line meets AR. Then extend the line further to meet the AC curve — THAT indicates your
cost (OC).

The total income = Price (OP) x Quantity (OQ) = the area OPNQ
The total cost = Cost (OC) x Quantity (OQ) = the area OCLQ.
Economic loss = income - cost

Price AC

Practise
drawing
the economic loss of
the monopoly over
and over again until
you do not make
any mistakes.

>
0 Q Quantity

Figure 7.7: The economic loss of the monopoly
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Learn the following THREE bullets as a description for the economic loss

of a monopoly:

e The monopoly suffers short-term losses when the AC curve lies above

the demand curve (DD).

e Equilibrium is reached where MR = MC (a loss-minimising situation).

e The monopoly will produce a quantity Q and sell at price P. The total
costs are the area OCLQ; the total revenue is the area OPNQ. The
loss will be that part that is shaded (the area PCLN).

7.3.4 Comparison of a monopoly and a

perfect market

Monopoly

Perfect market

1. Downward sloping DD curve MR
curve lies below the DD curve

Horizontal DD curve
MR curve same as DD curve

2. Price setter (maker)

Price-taker

3. Individual business is the industry

Individual businesses add up to
make the industry

price is high (and vice versa)

4. Consumer buys less if the selling

Business can’t choose its price and if
it sells at a different price it loses out

5. Monopolist produces a lower

doing produces at sub-efficient
quantities.

It does not produce at the
minimum point of the LAC curve

output at higher prices and in so

Larger output and lower prices.
Economically efficient quantities
produced.

Produces on the lowest point on the
AC curve

6. Producer and consumer
surpluses are smaller

Surpluses bigger

- no close substitutes

7. Products differentiated - unique

Product are homogenous

8. Long-term: can make economic
profit

Only normal profit in the long-term

7.4 Oligopolies

An oligopoly exists when a small number of large companies are able to
influence the supply of a product or service to a market. By controlling the
supply of the product or service on the market, oligopolies aim to keep its
prices and profits high. Oil companies are one of the best examples of an
oligopoly. A special type of this market form is a duopoly - an industry with

only two producers.

7.4.1 Characteristics of oligopolies
* There is limited competition. Only a few suppliers manufacture the

same product.

* Products may be homogenous or differentiated.

Loss
Some people
argue that a monopolist
always makes an economic
profit. This is not the case.
Profitability of a monopolist
depends on the demand
for the product as well
as the cost of
production.
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This market is characterised by mutual dependence. The decision of
one company will influence and will be influenced by the decisions of
the other companies.

Oligopolies can frequently change their prices in order to increase
their market share. However this can result in a price war.

Extensive use is made non-price measures to increase market share
e.g. advertising, efficient service or product differentiation.
Producers have considerable control over the price of their products
although not as much as in a monopoly.

If oligopolies operate as a cartel, firms have an absolute cost
advantage over the rest of the competitors in the industry. Abnormal
high profits may be a result of joint decisions in an oligopoly.

Entry is not easy in an oligopolistic market. This is due to brand
loyalty and it also requires a large capital outlay.

7.4.2 Kinked demand curve for the
oligopolist

Price

One theory devised by an American economist, Paul Sweezy, can be
used to determine the oligopolist’'s demand curve.

An oligopolist faces a kinked demand curve. This demand curve
consists of two sections.

The top section, the section that relates to high prices is a very
elastic slope (i.e. demand is very sensitive to a price change.)

The bottom section, the section that relates to lower prices is very
inelastic (i.e. demand is not sensitive to a price change).

To understand the demand curve of an oligopolist, view the graph
below.

R12 -7

R10 : E

R8|-------

2 910
Quantity

Figure 7.8: The kinked demand curve of the oligopolist

Suppose the oligopolist is selling at the original/present price of R10
and 9 units of output are sold. Total revenue is R10 x 9 = R90

If the firm tries to increase profit by increasing the price by R2 to
R12, quantity demanded would fall to 2 units and total revenue
would decrease to R24 (R12 x 2).

If the firm tries to increase profit by reducing the price by R2 to R8
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and increasing its total sales, total revenue would be R80.

¢ The oligopolist is therefore faced with a difficult decision because in
both instances it will not benefit.

* Increasing the price of goods or reducing the price to increase sales
will not lead to greater revenue earned.

7.4.3 Non-price competition

* Oligopoly firms are reluctant to change prices because a price war
will drive prices down and profits will be eliminated.

¢ They make use of non-price measures to attract customers and
increase their market share.

* Animportant aspect of non-price competition is to build brand
loyalty, product recognition and product differentiation.

e This is done by means of advertising and marketing. As a result,
oligopoly firms tend to spend a substantial amount of money on this.

Other forms of non-price competition include:
e extended shopping and business hours

e doing business over the internet

» after-sales services

» offering additional services

* loyalty rewards for customers

e door-to-door deliveries

Examples of firms that use kinds of nhon-price strategies are those in petrol
retailing such as Shell, BP and Caltex and in the banking sector such as
ABSA, FNB etc.

7.4.4 Collusion

Collusion takes place when rival firms cooperate by raising prices and by
restricting production in order to maximise their profits. When there is a
formal agreement between firms to collude it is called a cartel. A cartel is
a group of producers whose goal is to form a collective monopoly in order
to fix prices and limit supply and competition.

In general, cartels are economically unstable because there is a great
incentive for members not to stick to the agreement, to cheat by cutting
prices illegally and to sell more than the quotas set by the cartel. Although
there is an incentive to collude there is also an incentive to compete. This
has caused many cartels to be unsuccessful in the long term. Some well
known cartels are the Organisation of Petroleum Exporting Countries(OPEC)
and De Beers diamonds in South Africa.

Overt/Formal collusion e.g. cartels are generally forbidden by law in most
countries. However, they continue to exist nationally and internationally.

Sometimes in an oligopoly market, a dominant firm will increase the price
of a product in the hope that its rivals will see this as a signal to do the
same. This is referred to as price leadership and is an example of a tacit
collusion.
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See non-
price competition

for oligopolies on page 104.
Some forms are similar for
monopolistic competition. Make
sure you can draw the graphs for

the monopolistic

competitor.

7.5 Monopolistic competition

7.5.1 Characteristics of monopolistic
competition

The products are differentiated. Products are similar but not
identical. The are similar in that they satisfy the same need of the
consumer. There may be differences in packaging but the product is
the same. e.g. sugar and salt.

Differentiated products create opportunities for non-price
competition e.g. advertising.

Monopolistic competition displays a hybrid structure. It is a
combination of competition and a monopoly.

There are many sellers.This indicates the element of competition.
Entry into the market is easy.

Businesses have little control over the price of the product. Each
business sells at its own price since a single price cannot be
determined for the differentiated product because a range of prices
could apply.

Information for buyers and sellers is incomplete.

Collusion is not possible under monopolistic competition.
Restaurants, plumbers, lawyers, insurance brokers, hairdressers,
funeral parlours and estate agents are all examples of monopolistic
competitors.

7.5.2 Non-price competition

Differentiated products create opportunities for non-price
competition i.e. competition is not based on prices but rather on
factors relating to the product’s uniqueness.

Advertising campaigns and further product differentiation are
powerful forms of non-price competition.

The greater the product differentiation the less price elastic the
demand for the product will be.

Large sums of money are spent on research, development and
advertising to build a loyal consumer group.

Therefore brands play a significant role in determining customer
loyalty where a consumer may choose one producer over another.
Large chain stores e.g. Checkers, Spar etc. have their own brands
for some products. Most of these products are exactly the same as
known brands.

7.5.3 Prices and production levels in the
short-term and long-term

The demand curve for a monopolistic competitor is similar that of a
monopolist.

Short term equilibrium (economic profit and economic loss)
corresponds with a monopoly, but the demand curve is more price
elastic (flatter) due to good substitutes.

110 CHAPTER 7 DYNAMICS OF IMPERFECT MARKETS

© Department of Basic Education 2014
Mind the Gap CAPS Grade 12 Economics



Long-term equilibrium is characterised by normal profit, due to the
ease of entry and exit into the market (similar to a perfect market).
The economic profit made in the short-term attracts more businesses
to enter the market.

7.5.4 Comparison of monopolistic
competition with perfect competition

Both firms make normal profit in the long run. Therefore there is

no difference in the long-run between the perfect market and the
monopolistic market as far as profit is concerned.

The equilibrium price is higher than in a perfect market. The
consumer therefore pays less in the perfect market and more in the
monopolistic market.

The monopolistic competitor does not produce at the minimum of
the LAC whereas the perfect competitor does. He is less efficient.
The perfect competitor produces more at a lower price while the

monopolistic competitor produces less at a higher price.

7.6 Summary of market structures

Firm Perfect Monopolistic Oligopoly Monopoly
Competition Competition
Number of firms Many Large numbers Very few One
Entry into market Completely free/ Free/Unrestricted | Free but not easy Restricted or
unrestricted Varies from free to | completely
restricted blocked
Nature of product Homogenous/ Diffferentiated Homogenous/ Unique
Identical Differentiated (with no
substitute)

Demand Curve

Horizontal - firm

Downward sloping

Downward sloping

Downward sloping

price taker but relatively Kinked (INELASTIC)
elastic (relatively inelastic Equals the market

and elastic) demand curve

Market information | Perfect knowledge Incomplete Incomplete Perfect knowledge

(Knowledge of i.e. Complete i.e. Complete

market conditions)

Control over market | No control Limited/some Substantial control | Complete control

price Price taker control but not price Price setter/
setters makers

Profit/Loss Short-run = Short-run = Economic profit in Economic profit

economic profit/
loss

Long-run = Normal
profit

economic profit/
loss

Long-run = Normal
profit

the long-run

in short-run and
long-run
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H | Decision-making Decision has no Influenced by Influenced by other | Independent
influence on others | other competitors | competitors

I | Examples Fresh produce Restaurants Petrol, Oil Water & electricity
supply (Eskom)

J | Collusion Not possible Not possible Possible Not relevant

K | Technical effifiency | Yes Close Possible Possible

L | Allocative Yes Close No No
efficiency

Q Activity 2
—v

Complete the following table by filling in the missing information:

Characteristics Perfect market Monopolistic Oligopoly Monopoly
competition
So many competitors So few competitors that
that a single each business takes the
business cannot actions of the others into
influence the market account
price
Market entry Completely free Free

Downward sloping

Long-term economic Positive
profit

Seller market power

Control over price Some control Considerably
more than
oligopoly

Examples Fast-food Eskom

outlets
[20]
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Answer to activity 2

Characteristics Perfect market Monopolistic Oligopoly Monopoly
competition
Number of So many A very large So few competitors | One businessy”
businessesy’ competitors that numbery/ that each business
a single business takes the actions
cannot influence of the others into
the market price account
Market entry Completely free Free Free to restricted” | Blockedv/
Demand curvey, | Slopes from left to | Downward Downward sloping Downward sloping =
right/’ sloping/ market demandy”
Long term Normal profity/ Normal profits/” Positive Positive/’
economic profit
Seller market None, price-takers/” | Somev/ A whole lotv’ Many (price-maker)y/’
power
Control over price | Noney/” Few Considerablev” Considerably more
than oligopoly
Examples Gold and oilv” Fast-food outlets Petrol and oilv” Eskom

[20]
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Q Activity 3

.
Study the following graph and answer the questions that follow:

SMC | %
_—

Price

15

10 ;

5 d :

MR—
0 ! AR
100 Quantity

2)
4)
2)
)
]

Define the term imperfect market. (
Motivate why the above graph indicates short-term equilibrium.  (
Which point on the graph indicates profit maximisation? (
Calculate the economic profit. (

1

[

i

6
4

Answers to activity 3
1. Animperfect market occurs where the market price is not a pure
reflection of the scarcity of that product.v/ v/ (2)
2. The firmis producing where SMC = MR and is therefore in
equilibrium in the short term. v v vV (4)
The slope of the curves indicates a short run. v'v/
3. dwhere MR=MC vV (2)
4. Income = Price (15) x Quantity (100) v/
=R1500 v
Cost = Cost (10) x Quantity (100) v/
=R1 000 v
Economic profit = Income (R1 500) - Cost (R1 000)
=R500 vV (6)
[14]

Keep going!
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The reasons for and
consequences of
market failures

Markets can fail for many reasons. The reasons for, and consequences of, market
failure are explained in this Topic.
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Overview

TOPIC CONTENT SCOPE AND DEPTH OF EXAMINABLE
CONTENT
8. Explain the reasons for and consequences of
Dynamics of market failures, reflecting on the cost-benefit

markets: Market
failures

analysis

* The causes of market failures
- Externalities
- Private cost
- Private benefits
- Social cost
- Social benefits
- Missing markets
- Community goods
- Collective goods
- Public goods
- Merit and demerit goods
- Imperfect competition
- Lack of information
- Consumers
- Workers
- Entrepreneurs
- Immobility of factors of production
- Labour
- Physical Capital
- Technological change

- Imperfect distribution of income and
wealth

* Consequences of market failures

- Inefficiencies (Refer to Pareto
efficiency)

- Productive inefficiency

- Allocative inefficiency
- Externalities

- Negative externalities

- Positive externalities

- State Intervention

- Rules and regulations
- Direct control
- Imperfect markets
- Minimum wages
- Maximum prices
- Minimum prices

¢ Discuss the causes of market failures
in detail

HOT QUESTION: Draw a fully labelled
graph to demonstrate the basic elements
of the concept externalities

HOT QUESTION: Why do governments
produce goods and services themselves?

It is important to explain how
these causes relate to market
failure.

¢ Discuss the consequences of market
failure in detail

* |llustrate productive and allocative
inefficiency with the aid of a production
possibility curve (refer to Pareto
efficiency)

HOT QUESTION: Draw two graphs to
demonstrate negative and positive
elements in the concept “externalities”

e |llustrate with the aid of graphs
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- Taxes and Subsidies
- The price mechanism
- Subsidies on goods and services
- Redistribution of wealth
- Government involvement in production

* Cost-benefit analysis
- Description/Definition
- Reasons for a CBA
- Applications/examples in South Africa

* Define/explain the concept
¢ Briefly discuss the rationale/reasons

* Emphasise and highlight good practical
examples

e Apply by graphical or numerical
illustration

HOT QUESTION: Present a case for the
use of CBA in practice
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8.1 Key concepts

These definitions will help you understand the meaning of key Economics
concepts that are used in this study guide. Understand these concepts

well.
TERM DEFINITION
Allocative When resources are not allocated in the right proportions and the product mix does
Inefficiency not match consumers’ tastes. It is possible to reallocate resources to make one person

better off while not making someone else worse off

Allocative/Pareto
Efficiency

Occurs when resources cannot be readjusted to make one consumer better off without
making another consumer worse off. There is zero opportunity cost

Black market

An illegal market in which illegal goods are bought and sold or illegal prices are charged

Cost-Benefit
Analysis

An analysis done by government which weighs the costs and benefits of a project to
determine whether it should be carried out

Demerit Goods

Goods that are seen to be socially harmful e.g. cigarettes, gambling

Externalities

Costs or benefits to third parties which are not included in the market price of a good

Market Failure

When the forces of demand and supply fail to allocate resources efficiently

Maximum Price/
Price Ceiling

A price set below the equilibrium price/market price to make goods affordable

Merit Goods

Goods that are so beneficial to society that every individual should consume them
irrespective of their income e.g health care, education

Minimum Price/
Price Floor

A price set above the equilibrium price/market price to allow producers to make a fair
profit

Minimum Wage

A wage rate set by the government, below which no employer can pay their workers. It is
set above the equilibrium wage rate

Negative
Externalities

A cost to a third party which is not included in a market price of a good. It is a difference
between social cost and private cost. E.g. the harmful effect of a product e.g. pollution

Non-Excludable
Goods

Goods whereby individuals can benefit even if they do not pay for it e.g. the television or
the police force

Non-Rival Goods

Goods when consumed by one person will not reduce the consumption by another
individual e.g. street lights

Positive Externalities

The benefit gained by a third party which is not included in the market price

Private Benefit

The gain a consumer gets from the use of a goods or the gain a producer gets from the
sale of a product. E.g. The joy gained by a consumer from driving a car

Private Cost

The actual cost paid by a consumer when a good is purchased. E.g. R150 000 for a car

Producer Subsidies

A cash allowance given to a producer to lower the cost of production and allow more
goods to be supplied at a lower price

Productive/

When resources are not used appropriately to produce the maximum number of goods

Technical at the lowest cost and best quality

Inefficiency

Public Works A government initiative aimed at reducing poverty by creating temporary jobs in areas of
Programme infrastructure and other areas

SABS - South An institute that monitors the quality of goods in South Africa

African Bureau Of

Standards

Social Benefit

The benefit gained by society from the use of a good or service. E.g. taxpayers pay for
the maintenance of roads, society will benefit from fewer accidents. It is calculated by
adding the private benefit and external benefit

Social Cost

The cost of a good or service which is paid by society. It is calculated by adding the
private cost and external cost. E.g. the air pollution caused by cars, will affect people’s
health bills
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8.2 The reasons for market failures

There are many reasons for market failure. These include:

8.2.1 Externalities

Externalities are costs not included in the pricing of goods/services, and
consequently there is a difference between the private costs/benefits and
the social costs/benefits of production.

* Private costs: the cost of producing the good or service which
translates into the prices that consumers pay. Also called internal
costs.

* Private benefits: Internal benefits that accrue to those who produce
goods and buy these goods, e.g. producing a bicycle (for producer)
and using the bicycle (consumer).

* Social costs: these are total costs incurred by society as a whole.

For example the social cost of electricity includes the cost of capital,
labour, inputs and the cost of the externalities such as dirty water
and air. Social cost = private costs plus external costs.

e Social benefits: this includes the total benefit experienced by
society as a whole. For example, municipalities provide clean water
to society which results in fewer illnesses. Social benefits = private
benefits plus external benefits.

Negative externalities are things like pollution, tobacco smoking and
alcohol abuse. The costs of negative externalities are paid by society rather
than by the producers. For example, Styvesant produces cigarettes, many
illnesses are related to smoking. The treatment for these ilinesses is paid
for by society.

Positive externalities are the positive effects of products to third parties
which are not paid for.

Negative externalities are often over-produced while positive externalities
are under-produced. This leads to market failure.

8.2.2 Missing markets

Markets are incomplete because they cannot meet the demand for certain
goods.

Public goods (community and collective goods) are in high demand but are
not supplied by the market because of the low profit gained from them and
the high cost of capital needed to supply them. Since private producers
cannot withhold these goods for non-payment, they are reluctant to provide
these goods. The government thus provides these goods and services.

Public goods

This includes community and collective goods and has two features:

¢ Non-rivalry: Consumption by one person does not reduce
consumption by another individual, e.g. a lighthouse.

¢ Non-excludability: Consumption can’t be confined to those who pay
for it (free riders can use them), e.g. radio and television.

market failure.

-
~~
Learn these six reasons for

When you
buy a product in a
polystyrene container, this
gives rise to a negative
externality — pollution! This
is a form of market
failure.
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Mevrit and
demerit goods
relate to

desirability of

In addition

* Social benefits outstrip private benefits: e.g. health care and
education.

* Non-rejectability: Individuals are not able to abstain from
consumption, e.g. street lighting.

* Continuous consumption. E.g. traffic lights.

Community goods

These are goods such as, defence, police services, prison services, street
lighting, flood control, storm water drainage and lighthouses.

Collective goods

These are goods such as parks, beach facilities, streets. Markets are
incomplete and cannot meet the demand for all goods. Government
provides public goods, which consist of:

Merit and demerit goods

* Merit goods: These are highly desirable for general welfare, but not
highly rated by the market, e.g. health care, education and safety.
If people had to pay the market price for them, very little would be
consumed. The market fails because the market produces less than
the desired quantity.

* Demerit goods: These are over-consumed goods, e.g. cigarettes,
alcohol and drugs. Thus more of the good is produced than is
socially desirable. The government bans or reduces consumption
of these products through taxation, and provides information to the
population on their harmful effects.

8.2.3 Imperfect competition

*  Competition in market economies is limited by the power of certain
producers to prevent new businesses from entering the market. This
is imperfect competition.

e Barriers to entry are created because of advertising, a lack of capital
and the controlling of resources.

* The imperfect market doesn’t allow for price negotiations.

* Advertising is used to promote producer sovereignty (dominance),
which encourages consumers to buy existing products and allows
producers to delay new products from entering the market until it
is in their own interest (e.g. businesses have had the technology to
produce long-life light bulbs for many years but have chosen not to
launch them in the market).

8.2.4 Lack of information

Consumers, workers and entrepreneurs do not have the necessary
information to make rational decisions. This results in resources not being
allocated efficiently.

* Consumers: To maximise their benefits, consumers need detailed
information about goods and services. Although technology offers
this to the consumer, they obviously do have perfect information.

*  Workers: Are often unaware of job opportunities.

* Entrepreneurs: Lack of information on costs, availability and
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productivity of factors of production impacts their effectiveness.

8.2.5 Immobility of factors of production

e Labour takes time to move from one area to another.

e The supply of skilled labour cannot be increased because of the time
it takes to be trained or educated.

* Physical capital, like factory buildings or infrastructure such as
telephone lines cannot be reallocated easily.

e Structural changes like a change from producing plastic packets
to paper packets or shifting from labour-intensive production to
computer based production requires a change in labourers’ skills,
employment and work patterns. This takes time to change.

8.2.6 Imperfect distribution of income and

wealth

¢ Income distribution: The market system is neutral on issues of
income distribution.

¢ Discrimination: Distorts earnings for women and minority groups,
disabled persons and people subject to iliness and incapacity.

* The market produces goods and services only for those who can
afford it.

e This leads to some people having too many goods while others have
too few goods.

* The difference in income occurs because there is a difference in
market power, unequal educational opportunities, discrimination and
inheritance.

The market can
be efficient but not
necessarily fair or
equitable
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8.3 Consequences/effects of
market failures

. 8.3.1 Inefficiencies
: Two kinds of inefficiencies are possible:
1. Productive inefficiency/Technical inefficiency

Learn these four When resources are not used appropriately to produce the maximum
consequences of market number of goods at the lowest cost and best quality.

failure. 2. Allocative inefficiency
Allocative inefficiency means that the types/quantities of goods or
services produced are not what is best for consumers.
A
Pareto optimum c
A situation where 5
it is impossible to increase the 2
welfare of one individual without ¢ 1,
making another worse off. )
This implies that the welfare
of the community is at its
maximum.

\/

Flour

Figure 8.1: Inefficiencies can be described using a production possibility curve

e The Production possibility curve (AA), above, shows a combination of
goods that can be produced using all the available resources.

* Any point on the curve shows a combination of goods where
resources will be used efficiently.

* Therefore any point on the curve indicates Productive/Technical
efficiency.

* The indifference curve (I11) shows a combination of two goods which
gives the consumer the same level of satisfaction. However, if
production takes place at point B on the curve, but the demand for
goods is actually represented by point C, Allocative inefficiency will
occur where the tastes of consumers are not met.

* Any point to the left of the curve such as D, indicates that some
resources are unused. If this occurs some customers may be
deprived of goods. This depicts Allocative and Productive inefficiency.
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8.3.2 Externalities
(spill-over effects)

Negative externalities

Negative externalities bear a private cost, the cost of producing the actual
product and a social cost, a cost suffered by society.

If the social cost of a good were added to the private cost of a good, the
final price would be pushed up and fewer goods would be supplied. This is
depicted in Figure 8.2 below.

S, (MSC)

A

Price
)

\

Quantity
Figure 8.2 Negative externalities

From the graph it can be seen:

e The demand for the cigarettes is represented by DD.

¢ The supply of the product, which is also the marginal private cost
(MPC) of the industry, is represented by SS.

* As aresult of the pollution, the marginal social cost (MSC) is greater
than MPC.

e If the market is left to its own devices, a quantity Q will be produced
at price P.

* This is a socially inefficient solution.

¢ Social efficiency requires that MSC be equal to the price of the
product.

* This occurs at price P, and quantity Q,.

* Fewer goods should be produced at a higher price.

* The shaded angle represents the negative externality (welfare loss)
to society.

The government has used three methods to reduce negative externalities:

* The government has carried out campaigns in order to change/
persuade people from causing negative externalities.

* Levying taxes on goods that cause negative externalities. E.g. Taxes
are levied on cigarettes and alcohol.

e Passing laws and regulations to prevent activities that cause
negative externalities. E.g. Tobacco companies are not allowed to
advertise. There are laws that regulate the amount of air pollution
and waste.
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Positive externalities

If people acknowledged the social benefit of a good, they would demand
more of that good. The price of such a good would therefore increase. This
is depicted in the Figure 8.3 below.

Price

\/

e Q
Quantity

Figure 8.3 Positive externalities

From the graph it can be seen:

¢ The supply of education, which is also the marginal social cost, is
represented by SS.

* The demand for school education, which is also the marginal private
benefit (MPB) of the industry, is represented by DD. The cost of
school fees is P and the quantity demanded and supplied is Q.

e If the cost of school fees is P, most learners will not be able to
afford it.

* The demand curve D D, also represents the marginal social benefit.
(MSB), that is, the level of education that should be demanded.

¢ As a result of the benefits of education, MSB is greater than MPB.

e If the market is left to its own devices, a quantity Q will be produced
at price P.

¢ There would be social inefficiency in the market since not enough
education is being demanded.

* However, if social benefits are acknowledged, a quantity Q, will be
produced at price P,.

* More education would be demanded, this will lead to social
efficiency.

* The shaded angle represents the positive externality (the welfare
gain) to society.

The government encourages positive externalities by:

e Advertising on the radio or television.

* Providing education, health care and other services at a low cost or
free.

*  Providing consumer subsidies.

e Consumer subsidies lower the cost of a good and encourage its
usage.
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8.3.3 Government intervention
Rules and regulations

a) Direct controls

The government can pass laws or use existing legislative framework to
control businesses that generate negative externalities.

b) Imperfect markets

Firms in an imperfect market supply a limited quantity of goods and
services at a very high price.

The government uses its laws on competition to prevent exorbitant prices
charged by firms, to ensure entry to the market is free, prevent harmful
collusion and encourage foreign competition which helps keep prices of
goods low.

c) Establishing minimum wages

*  When the government enforces a minimum wage, it means workers
have to be paid a certain wage amount and not anything less than this.

* The Figure 8.4 below shows that if the wage rate is set at W, the
corresponding demand and supply of labour will be Q.

* Ifaminimum wage of W, is set, the demand for labour will decrease
from Q to Q,. Some people may become unemployed due to the
introduction of a minimum wage.

* However, the quantity of labour supplied will increase from Q to Q.

* More people will offer their labour because of the higher wage.

Minimum wage

Wage rate

\J

Quantity
Figure 8.4 Establishing minimum wages

d) Setting maximum prices/price ceilings

¢ The government sets a maximum price ceiling below the market
price to make goods more affordable.

e Maximum prices allow the poor greater access to certain goods and
services.
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* A maximum price is set on goods such as basic foods, housing and
transport.

e In South Africa the price of petrol, diesel fuel and paraffin are
controlled at their maximum prices.

Price
)

P, : - : Maximum price
s’ | Shortage | \p
Q Qo q ]
Quantity

Figure 8.5 Setting maximum prices

* |nitially the market equilibrium price is P and equilibrium quantity
is Q.

* The government intervenes and passes a law that milk cannot be
sold for more than P,.

* The effect of this maximum price is that quantity supplied decreases
to Q, and quantity demanded increases to Q,.

* There is a shortage of milk equal to the difference between Q,
and Q,.

* Ashortage creates a problem of how to allocate milk to consumers.

e Black markets often develop where people can obtain milk. A black
market is an illegal market in which either illegal goods are bought
and sold or illegal prices are charged.

* Maximum prices may cause a shortage of goods but they do improve
the welfare of some consumers since goods can be purchased at
lower prices.

e) Setting minimum prices/price floors

* The government sets a minimum price at some point above the
market price.

e This is done to enable producers to make a comfortable profit and
thus encourages them to supply important essential goods.
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Surplus

P, ¢ Minimum price

Price
v

\J

Q, Q q
Quantity

Figure 8.6 Setting minimum prices

e Consider the market for wheat.

¢ The market equilibrium price is P and the equilibrium quantity is Q.

* Ifthe government sets a minimum price at P, farmers will be
earn greater profits and supply more wheat. Quantity supplied will
therefore increase to Q,.

* However, quantity demanded will decrease to Q,.

¢ There would be a surplus of wheat equal to the difference between
Q,and Q..

* Asurplus means the government will have to buy the extra wheat
and dump it locally or abroad.

e Although minimum prices may cause a surplus they do encourage
the supply of important food stuffs.

f) Taxes and subsidies

Levying of taxes

Governments intervene in the market by levying taxes to recover the
external cost. These taxes will increase the price and will result in a
decrease in production. This could help to reduce a negative externality
such as pollution.

Providing Producer Subsidies

* The government provides subsidies to producers in order to
encourage them to increase the production of goods. Supply
increases.

e Producer subsidies are often given to suppliers of agricultural
products such as milk, wheat and maize.

* Subsidies lower the cost of producing goods and thus the market
price of these goods is lowered.
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Figure 8.7 Taxes and subsidies

For example, if we look at Figure 8.7:

The market price of rice is P and the corresponding quantity is Q.

If the government subsidises the production of rice, the market price
will decrease to P, with corresponding quantity Q,.

The lower price, P, allows the poor to purchase more rice.

d) Redistribution of wealth

Traditional methods e.g. the levying of various taxes and the
provision of free services, services in kind and cash benefits to the
poor.

Implementing Redress methods e.g. the use of law to enforce
redistribution. It includes BEE, affirmative action, empowerment,
land restitution, land redistribution and property subsidies (for RDP
houses).

The government can use other ways to improve income distribution and
overcome market failure:

Transfers income directly to the poor e.g. child support grants,
unemployment benefits etc.

Provides goods free of charge e.g. community goods, education etc.
Implements employment creation programmes e.g. public works
programme.

Subsidising merit goods e.g. subsidising arts and cultural events.
Imposes taxes and laws on demerit goods to discourage
consumption.

Uses fiscal and monetary policy to achieve macroeconomic stability.
Makes sure that consumers are informed about products through
legislation. The South African Bureau of Standards (SABS) checks
consumer goods in South Africa.

Tries to prevent misleading advertising. (Advertising Standards
Authority)
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8.4 Cost-benefit analysis (CBA)
8.4.1 Description

In both private and public sectors project evaluations are done in terms of
cost and benefits. In the private sector feasibility studies are done which
also provides for legal aspects relating to externalities. Expected private
costs and benefits are taken into account.

In the public sector a Cost Benefit Analysis is done which takes into
account expected social costs and social benefits of providing such goods
and services.

8.4.2 Reasons for cost benefit analysis

* Market signals e.g. price help to allocate resources through demand
and supply.

* Goods supplied by the government such as roads, bridges etc. are
provided free.

e With the absence of market signals, decisions on the desirability of a
project may be subjective.

* Objective criteria may be required to ensure economic efficiency in
resource allocation.

e CBA brings greater objectivity to decision making,

e This is done by identifying all the relevant benefits and costs of a
project so that an informed decision can be made.

8.4.3 Applying the CBA (an example)

CBA is usually applied to projects where it is expected there will be a
significant difference in private and social costs and benefits.

Imagine the Gautrain project, a rail service that connects Hatfield in
Tshwane with Johannesburg and the OR Tambo International Airport.

Private costs would include: Private benefits would include:
* The cost of land. * Train fares.
* The cost of building materials and * Subsidies from government.
equipment. » Money from allowing companies
* Transport costs. to advertise.

e Labour costs.
¢ Overhead costs etc.

External costs would include: External benefits would include:
* Pollution. e Employment and income.
» Destruction of plants, animals and * Opportunities for new
insects. businesses.
¢ Resettlement for people whose * Time saved because of the high
homes were expropriated. speed of the train.

¢ Increased traffic in certain areas and ¢ Fewer accidents and less traffic.
blockages of certain driving routes. * Less strain on medical facilities.

-
—
d

Learn these three points
about cost benefit analysis.
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Once all benefits and costs were determined it was eventually decided that
the idea of the Gautrain would benefit society more than harm it. Planning
for the Gautrain started in 2000 but building only started in 2006.

Q Activity 1
v

Study Figure 8.8 and answer the questions that follow.

FINANCE OPERATIONS

Figure 8.8
1. What economic technique for enumerating and evaluating is
depicted in the illustration? (2)
2. Give TWO recent examples of potential ‘operations’ in
South Africa that will fit into the illustration. (2)
3. List ONE social benefit of each of the above projects. (4)
[8]

Answers to activity 1

1. Cost benefit analysis v'v/ (2)

2. Gautrain v/ Coega v/ (2)
Any other relevant fact.

3. Gautrain: Better infrastructure v'v"More effective transportv/ v’
Coega: Job creations/ v//increased standard of living v'v Any other
relevant fact. (any 2 x 2) (4)

[8]
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Q Activity 2

s
Distinguish between merit and demerit goods. [8]

Answer to activity 2

* Taxation, subsidies and legislation are used to control merit and
demerit goods. vV

* Merit goods: higher consumption of goods is regarded as good for

society v'v government makes use of subsidies v'v (distribute
condoms). v'v/

* Demerit goods: government imposes taxes to discourage
consumption vV (cigarettes). v'v/

Q Activity 3
—v

Discuss the features of collective goods. [8]

(8]

Answer to activity 3

* Non-rivalry: /v Consumption by one person does not reduce
consumption by another individual /v e.g. a lighthouse v'v'

¢ Non-excludability: /v Consumption can’t be confined to those
who pay for it (free riders can use it) vV e.g. radio and television

v
(8]
Q Activity 4
4
Discuss the distribution of wealth and income as a consequence of market
failure. [8]

Answer to activity 4

* Through the national budget and taxations/ v/

e Change the distribution of income by: v/'v" Subsidies, transferring
payments to poor households, providing goods and services free
of charge, implementing job creation programmesv'v/

* Regulatory measures: v'v' Land reform, labour legislation,
preferential access to government procurement contracts, black
economic empowerment policies v'v/

(8]
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Q Activity 5
—v

Study the following illustration and answer the questions that follow:

1. Identify the negative externality depicted in the illustration. (2)
2. List TWO measures that can be applied by government to reduce
this externality. (2)
What is the liability of the factory in this regard? (2)
4. What effect will this have on consumer prices? (2)

w

Answers to activity 5

1. Pollution vV

2. Legal actions vand taxes v/ (any 1)
3. To reduce the pollution v'v/
4

Consumer prices will increase v'v/
(8]

Keep going!
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Economic

growth and economic

development

Overview

TOPIC CONTENT SCOPE AND DEPTH OF EXAMINABLE
CONTENT
9. Compare South African growth and develop-
Economic ment policies in terms of international bench-
growth & marks, also highlight the North/South divide

Development
¢ Background

- Economic growth
- Economic development

* The demand-side Approach
- Growth and Development
- Monetary policy
- Fiscal policy

- South Africa’s Approach

- Monetary policy
Interest rate changes

Moral suasion
- Fiscal Policy

Wealth tax

Cash benefits
Natura benefits
Other redistribution

Subsidies on property

¢ The supply-side Approach
- Creation of growth

- South Africa’s approach

- Business efficiency

Open market transactions

Progressive personal income tax

Land restitution and redistribution

- Aggregate supply and demand

- Efficiency and effectiveness of markets

- The cost of doing business

* Distinguish between growth and
development

» Distinguish between government policies,
strategies and initiatives

* Discuss the demand-side approach in
detail

* Focus on discretionary changes in
monetary and fiscal policies with the aim
of changing the level of aggregate demand
and therefore output (Real GDP)

* Analyse SA’'s approach in terms of its
monetary policy

* Focus on: the SARB which is responsible
for the implementation of the policy. Its
primary goal is to protect the value of our
currency

¢ Analyse South Africa’s approach in terms
of fiscal policy

* Focus on: the budgetary process, the
purpose of fiscal policy to stimulate
macroeconomic growth and employment
and to ensure a desirable redistribution of
income

* Discuss the supply-side approach in detail

HOT QUESTION: Critically analyse the use of
demand and supply-side policies in South
Africa
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* Evaluate the approaches of the growth and
development policies used in South Africa

- Growth and Development Policies

- Reconstruction and Development
policy (RDP)

- Growth Employment and Redistribution
Programme (GEAR)

- National Skills Development Strategy
(NSDS)

- Accelerated and Shared Growth
Initiative for South Africa (ASGISA)

- Joint Initiative on Priority Skills
Acquisition (JIPSA)

- Expanded Public Works Programme
(EPWP)

- The New Growth Path (NGP)
- National Development Plan (NDP)

- Small Business Development
Promotion Programme

- Black Economic Empowerment
Programmes

¢ The North/South divide

- Unequal standards of living
- Per capita income
- Life expectancy
- Education

- Challenges of Globalisation
- Poverty
- Growth
- Trade

- Environment
- Countries in the North
- Countries in the South

* Discuss South Africa’s growth and
development policies in detail

* Appraise South Africa’s growth and
development policies

¢ Evaluate (benchmark) elements of South
Africa’s growth and development policies
from given data

HOT QUESTION: Analyse South Africa’s
Growth and Development Plan (GDP) in
terms of growth and development objectives

* Compare the standard of living between
North/South countries

» Explain the positive/negative impact of
globalisation on developing countries

¢ Explain the negative environmental effects
as a result of the economic activities in
both North and South

134 CHAPTER 9 ECONOMIC GROWTH AND ECONOMIC DEVELOPMENT

© Department of Basic Education 2014
Mind the Gap CAPS Grade 12 Economics



9.1 Key concepts

These definitions will help you understand the meaning of key Economics
concepts that are used in this study guide. Understand these concepts

well.

Term

Definition

Accelerated and Shared
Growth initiative for
South africa (ASGISA)

An initiative to promote development strategies,
e.g. infrastructure and skills development

Broad Based Black
economic empowerment
(BBBEE)

Has the goal of the sustainable (able to continue)
distribution of wealth across as broad a spectrum
of South African society as possible, especially
the most vulnerable such as women, mainly
through ownership and management of business
enterprises

Black economic
empowerment (BEE)

An earlier policy similar to BBBEE, with the aims
of distributing wealth to and developing skills in
black citizens in post-apartheid South Africa

Development Bank of
Southern Africa (DBSA)

Promotes development in the Southern African
region by financing important

development projects

demand-side approach

The focus is on attempts to increase aggregate
demand in an economy. Fiscal and monetary
policy can be used

economic development

The process by which the standard of living
improves

economic development
policy

A policy that involves the interaction of economic,
social and human development

economic growth

An increase in the productive capacity of an
economy over time. It is a change in the real GDP

economic growth policy

A policy that helps to increase the annual total
production or income in the economy

Growth, employment and
redistribution (Gear)

A strategy to promote economic growth, increase
employment and redistribute income

Globalisation

The worldwide interaction of economies with trade
as an important element

Integrated Manufacturing
Strategy (IMS)

A strategy to strengthen institutional capacity to
deliver services that will facilitate development

Joint initiative on Priority
Skills acquisition (JIPSA)

An initiative to aid the development of urgently
needed skills to facilitate job creation

Life expectancy

Expresses in number of years how long a child
born today is expected to live

National Growth Path
(NGP)

Initiatives to stimulate economic growth

North-South divide

Refers to the developed countries in the Northern
hemisphere and the developing

countries in the Southern hemisphere

Use
mobile notes
to help you learn these
key concepts. See page
Xiv in the introduction
for more.
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Learn the
difference between
growth and
development
initiatives.

When you

prepare for the
exam, memorise
CONCEPTS FIRST!

Public and Private Sector | These are contracts between a public sector
Partnerships (PPP) institution/municipality and a private business,
in which the design, financing, building and
operation of public sector projects is managed by
the private business

Reconstruction and A development policy to improve service delivery
Development Programme | to the poor and create an environment for human
(RDP) development

South African Reserve Central bank of South Africa with the main goal to
Bank (SARB) maintain price stability, thereby

promoting balanced and sustainable growth

Small, Medium and Micro | A small business that has a small share of the
Enterprises (SMMEs) market place; operates independent

of larger enterprises; employs few people; and is
managed directly by owners

Supply-side approach Policies aimed at increasing the aggregate supply

9.2 Economic growth and
economic development

The difference between economic growth and economic development

Economic growth Economic development
* Increase in a country’s real gross * Increase in a country’s real gross
domestic product domestic product per capita over
* Itis measured by the increase time
in the production of goods and ¢ A process that concentrates
services over time on peoples’ standards of living,
self-respect and freedom of
choice
e Growth should lead to
development

9.3 Demand-side approach
9.3.1 Growth and Development

A demand-side approach includes discretionary changes in monetary and
fiscal policies with the aim of changing the level of aggregate demand.

Monetary policy is driven by the South African Reserve Bank (SARB). It
aims to stabilise prices by managing inflation.

Fiscal policy is driven by the Department of Finance. It aims to facilitate
government, political and economic objectives.

A demand-side approach to economic growth and development does
not only depend on fiscal and monetary policy. It is dependent on all
components of aggregate demand, thatis, C, I, Xand G.
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9.3.2 South African approach

The South African approach uses both monetary and fiscal measures to
influence aggregate demand in the economy.

Monetary policy

The South African Reserve Bank (SARB) as the central bank in South Africa

formulates the monetary policy. They use the following instruments:

* Interest rate changes
It is used to influence credit creation by making credit more
expensive or cheaper. The exchange rate is stabilised by encouraging
inflow or outflows.

¢ Open market transactions
To restrict credit the SARB sells securities. When banks buy these
securities money flows from banks to the SARB. The banks have
less money to lend and cannot extend as much credit as before. To
encourage credit creation the SARB buys securities. Money flows into
the banking system.

¢ Moral suasion
The SARB consults with banks to act in a responsible manner based
on the prevailing economic conditions.

¢ Cash Reserve Requirements
Banks are required to hold a certain minimum cash reserve in the
central bank. Banks have a limited amount to give out as credit.

Fiscal policy

South Africa’s fiscal policy is put into practice through the budgetary
process. The main purpose of fiscal policy is to stimulate macroeconomic
growth and employment, and ensure redistribution of wealth.

The following instruments are used:

* Progressive personal income tax
Higher income earners are taxed at higher tax rates. These taxes
are used to finance social development. The poor benefit more than
those with higher incomes.

¢  Wealth taxes
Properties are levied (taxed) according to their market values. Transfer
duties are paid when properties are bought. Securities (shares and
bonds) are taxed when traded. Capital gains tax is levied on gains on
the sale of capital goods (e.g. properties, shares). Estate duties are
paid on the estates of the deceased. These taxes are used to finance
development expenditures which benefit the poor more often.

e Cash benefits
Old age pensions, disability grants, child support and unemployment
insurance are cash grants. These are also known as social security
payments.

¢ Benefits in kind (natura benefits)
These include the provision of healthcare, education, school meals,
protection etc. When user fees are charged, poor or low income
earners pay less or nothing. Limited quantities of free electricity
and water are provided.
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e Other redistribution
Public works programmes, e.g. the Strategic Integrated Projects (SIP)
provides employment subsidies and other cash and financial benefits
such as training, financing and export incentives.

* Land restitution and land redistribution
Land restitution is the return of land to those that have lost it due
to discriminatory laws in the past. Land redistribution focuses on
land for residential (town) and production (farm) for previously
disadvantaged groups. The money for these programmes is provided
in the main budget.

e Subsidies on properties
It helps people to acquire ownership of fixed residential properties.
E.g. government’s housing subsidy scheme provides funding to all
people earning less than R3 500 per month.

9.4 The supply-side approach
9.4.1 Creation of growth

A supply-side approach includes anything that can influence the
aggregate supply of goods and services, with the focus on microeconomic
components, e.g. competition and potential output.

Government intervention aims to facilitate the smooth operation of
markets in order to stimulate growth and development.

9.4.2 South African approach

The South African approach aims at improving the effectiveness and

efficiency of markets. This requires:

* Markets to operate more equitably and inclusively: More blacks
must be accommodated in the mainstream economy if it is to work
efficiently.

e Business efficiency: Taxes must be collected efficiently, capital
formation must increase, human resources must be supported to
improve, and free advisory services must be made available so that
business efficiency improves.

* The cost of doing business must be lowered: transport,
communication and energy costs must decrease.

© Department of Basic Education 2014
138 CHAPTER 9 ECONOMIC GROWTH AND ECONOMIC DEVELOPMENT Mind the Gap CAPS Grade 12 Economics



9.5 Evaluation of the South African
approaches used in South Africa

9.5.1 Growth and development policies

Growth Development

Macroeconomic policies Development policies
These include measures to achieve the | These include measures aimed at achieving industrial, agricultural
following macroeconomic objectives: and human development:
1. Higher economic growth 1. Microeconomic initiatives
2. High levels of employment * Facilitating increased competition, opening up resource
3. Price stability markets, enabling land-use and environmental policy.
4. Exchange rate stability 2. Social care
5. Economic equity * Social welfare and security and poverty alleviation

* Policies to redress past inequalities, including Employment

Increased economic growth leads to Equity and BEE/BBBEE

more tax revenue which can be used to * Affirmative action
provide more social goods and services ¢ Land redistribution and restitution
with the aim of achieving economic 3. Macroeconomic characteristics and desired outcomes:

development. » Standard of living low - increase the per capita income.

* Unemployment high - create more employment, e.g. public
All the above measures should be sector work programme.
evaluated in terms of international

benchmarks. * Productivity low - improve the level of knowledge, skills and

motivation, e.g. JIPSA.

At certain periods, the South African government has focused its initiatives
on economic growth, while at other points, policy emphasis has shifted to
economic development (see Figure 1 below).

1992 1994 1996 2003 2005 2007 2012
IMS RDP GEAR BEE ASGISA JIPSA NGP >

Figure 9.1 Growth and development policies

The main growth and development policies are:

1. Reconstruction and Development Programme (RDP)

The main strategy was to alleviate poverty and address the inequalities and
shortfalls in social services by focusing on job creation, welfare, housing,
transport, land reform, healthcare, education, training, water and sanitation.

Evaluation thus far:

¢ Meeting basic needs: government creates an increased demand for
goods and services. The expanded public works programmes were
mostly labour intensive. This helped alleviate unemployment and
poverty slightly.
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* Some social achievements: building houses, providing clean water,
electrification, land reform, and healthcare.

* Real GDP growth erratic since 1994, unemployment in formal sector
increased.

*  Key objectives of poverty reduction and improved service delivery
hardly successful.

2. Growth, Employment and Redistribution (GEAR)
The main strategy was to strengthen economic development, redistribute
income and create socio-economic opportunities for the poor.

Evaluation thus far:

e Mixed outcomes.

* Brought greater financial discipline and macroeconomic stability.

e Real reduction in fiscal deficit (less than 3% in terms of international
benchmarks).

e Inflation has dropped mostly to within inflation targets.

* Foreign exchange reserves increased in most regards.

* Failure to create sustainable job opportunities.

* Failure to redistribute wealth more evenly.

3. Accelerated and Shared Growth Initiative for South
Africa (ASGISA)

Its objective is to co-ordinate government initiative to create economic

development:

The key elements are:

e Halve unemployment and poverty by 2014.

* Accelerate economic growth to an average of 6% between 2010 and
2014.

Evaluation thus far:

e Growth in infrastructure investment, especially in the public sector.

* Employment growth has lagged behind economic growth - reason
real wage increases are higher than productivity.

* The second economic strategy helped slightly to reduce
unemployment through the Expanded public Works Programme.

e Poor economic growth and high unemployment for the youth.

4. Joint Initiative on Priority Skills Acquisitions (JIPSA)
It is the skills development arm of ASGISA. Focus is on skills development,
especially through the SETAS.

5. Expanded Public Works Programme (EPWP)

It is a nationwide government intervention to create employment using
labour-intensive methods, and to give people skills they can use to find
jobs when their work in the EPWP is done.

6. The New Growth Path (NGP)
Its aim is to enhance growth, create employment and create greater equity.

The strategy is to identify key sectors as “job drivers” and promote and
support industries and sectors that can drive job creation.
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Focus is to:
e Create 5 million jobs by 2020, reducing unemployment from 25% to
15%.

7. National Development Plan (NDP)

It sets out to expand economic opportunities through investment in
infrastructure, more innovation, private investment and entrepreneurship.

8. Small Business Development Promotion Programme
(SBDPP)

It was designed to deliver support and services to small, medium and

micro enterprises.

e Department of Trade and Industry (DTI), Industrial Development
Corporation (IDC) and the National Small Business Act offer these
services.

e Laws are revised to help change power imbalances.

9. Black Economic Empowerment Programmes (BEE)

The Black Empowerment Act and Employment Equity Act were designed
to assist in the transformation and redress of previously disadvantaged
groups. Measures are implemented to ensure redress and affirmative
action in the workplace and business environment.

9.6 The North/South divide

The table below shows different ways to distinguish between developed
countries (in the North) and developing countries (in the South).

North (developed) South (developing)

Standard of living:

¢ Real GDP per capita e High * Low
* Life expectancy e 75 years * 48 years
* Education: Literacy level e High * Low

Globalisation inequalities:

* Poverty level * Low * High
* Economic growth e High * Low
* Production and trade ¢ Manufacturing goods * Raw material
* Receive subsidies e Agriculture/mining without subsidies

Environment:

* Mass production and ¢ Mainly responsible for » Affects developing countries more
consumption damages the ozone damaging the ozone layer negatively
layer, caused by pollution and
toxic waste

Sustainable development:

permits future generations to live
as well as the current generation

are more in favour of
sustainable development

¢ The pattern of development that ¢ Practices used in production | ¢ Production practices do not promote

sustainable development
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Q Activity 1

—
Study the cartoon below and answer the questions that follow:

1. What is the message behind the cartoon? (2)
2. List any TWO countries involved in this phenomenon. (2)
3. List any TWO products displayed in the cartoon. (4)

Answers to activity 1

1. Globalisation v v (2)
2. USA v/and Japan v (2)
3. Motor vehicles v vand fuelv/ v (4)
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Q Activity 2

e
Study the cartoon below and answer the questions that follow:

THIS ISNT HOw
WE ENVISAGED
BROAD- BASED

EMPOWERMENT! .

e et

1. What is the message behind the cartoon? (2)
2. What is the main objective of Broad-Based Black Economic

Empowerment? (2)

(4]

Answers to activity 2

1. The people are dissatisfied about the way the government
is handling Black Economic Empowerment (corruption and

nepotism). v'v/ (2)

2. To advantage the previously disadvantaged section of the
population.v' v/ (2)
(4]
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Q Activity 3
—v

Distinguish between economic growth and economic development.
(8]

Answer to activity 3

Economic growth Economic development
* A process by which the * A process that concentrates on
productive capacity of the people’s standard of living, self-
economy increases over respect and freedom of choice. vV
time. vV » Growth should lead to development.
* Leads to rising levels of W4
national output and income.

¢ The ultimate aim of economic

v policy is an improved standard of
* |s anincrease in real gross living of the population per capita
domestic product (GDP).v v/ by means of economic growth and

development. vV

(any 2 x 2) x 2 [8]

Q Activity 4

ey
Explain unequal standards of living as a characteristic of the North/South
divide.
[6]
Answer to activity 4
e The real per capita income in developing countries is low
compared to developed countries, v e.g. 87% of the world’s total
income is produced by 15% of the world’s population v
* Life expectancy in developing countries is as low v as 47 years
compared to a life expectancy of over 80 years in a country like
Sweden v
* Low levels of education v the adult literacy rate determines the
effectiveness of education v/
[6]

Keep going!
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South Africa’s
iIndustrial policies

and their suitability
In terms of

iInternational best

practice

Overview

- National Industrial Policy Framework
(NIPF)

- Industrial Policy Action Plans (IPAP)
Industrial development Strategies

- National Research and Development
Strategy (NRDS)

- Integrated Manufacturing Strategy
(IMS)

Focus of these Policies and Actions

Targeted industries, sectors and
regions

Sectors with potential
Special Economic Zones

Southern Africa

TOPIC CONTENT SCOPE AND DEPTH OF EXAMINABLE
CONTENT
10. Justify South Africa’s industrial development
Economic policies and their suitability in terms of
growth and international best practice
development:
Industrial « Industrial development in South Africa . .
development ) o Define/explain the concept
.. - Industrial Development Policies . .
policies Briefly discuss the reasons for

industrial development

Justify South Africa’s Industrial
Development Policies

Briefly explain South Africa’s Industrial
Development Strategies
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* Regional Development

- Aims
- Regional development in South Africa

- International best practice for regional
development

¢ South Africa’s endeavours

- Spatial Development Initiatives (SDIs)
- Industrial Development Zones (IDZs)
- Special Economic Zones (SEZs)

- Corridors

- Strategic Integrated Projects (SIPs)

- Infrastructure Plan

Incentives to encourage industrial
development

- Small Businesses Support Program
- SEDA Technology Program (STP)

- Skills Support Program (SSP)

- Critical Infrastructure Facilities (CIP)
- Custom Free Incentives

- Foreign Investment Incentives

- Strategic Investment Program

- Services to Business Processes

Appropriateness of South Africa’s
industrial policies

- Success factors
- External Limitations
- Internal Limitations

Appropriateness of South Africa’s regional
development policies

Small business development

The appropriateness of Black Economic
Empowerment in the SA economy

- Best practice for regional development
Benchmarks criteria:

- Free Market orientation

- Competitiveness

- Sustainability

- Good governance

- Provisioning of resources

- Investment of social capital
- Integration

- Partnerships

Define/explain the concept
Briefly discuss regional development

Briefly discuss Spatial Development
Initiatives (SDIs) in South Africa

Briefly discuss Industrial Development
Zones (IDZs) in South Africa

Briefly discuss Special Economic Zones
(SEZs) in South Africa

Briefly discuss corridors in South Africa

Critically discuss the incentives used
by the SA government to improve
industrial development

Briefly discuss the appropriateness of
SA endeavours

Evaluate the appropriateness of the
South African industrial development
strategies in terms of international
benchmark criteria
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10.1 Key Concepts

These definitions will help you understand the meaning of key
Economics concepts that are used in this study guide. Understand

these concepts well.

mobile notes to help
you learn these key
concepts. Find out more
about mobile notes
on page xiv in the
introduction.

Term

Definition

Black Business Supplier
Development Programme
(BBSdP)

An incentive for black businesses consisting of an 80%
cash grant to help increase the number of cash suppliers

Critical Infrastructure
Programme (CIP)

Offers cash grants for projects that require new, expanded
or improved infrastructure

Department of Trade and
Industry (DTI)

Provides a competitive, socially responsible environment
for investment, trade and enterprise development. It
helps broaden participation in the economy to strengthen
economic development; and it promotes structural
transformation of the economy

Foreign Investment
Grant (FIG)

Offers cash grants for foreign investors who invest in new
manufacturing businesses in South Africa

General agreement on
tariffs and trade (GATT)

A multilateral agreement regulating international trade. Its
purpose is to reduce tariffs and other trade barriers

Industrial Development
Corporation (IDC)

Set up by government to promote economic growth
and industrial development in South Africa and Africa.
It promotes entrepreneurship by building competitive
industries and enterprises based on sound business
principles

Industrial Development
Zone (IDZ)

These are purpose-built industrial estates that are
physically enclosed and linked to an international port or
airport e.g. Coega. Businesses are encouraged to open in
IDZs by being offered improved tax rates or incentives

Integrated Manufacturing
Strategy (IMS)

A strategy to strengthen institutional capacity to deliver
services that will facilitate development

industrial development

Refers to policies that are aimed at the encouragement of
industrial investment and

greater industrial efficiency

Regional industrial
development

Refers to policies that are aimed at increasing the
economic livelihood of specific areas or geographical
regions

Southern African
Development Community
(SADC)

An inter-governmental organisation whose goal is to
further socio-economic cooperation and integration, as
well as political and security cooperation among

15 Southern African states

Spatial Development
Initiatives (SDI)

Initiated to attract infrastructure and business
investments to neglected and underdeveloped areas, e.g.
Maputo Corridor

Small and Medium
Enterprise Development
Programme (SMedP)

A progamme that offers grants paid to local and foreign
manufacturers starting new businesses

Skills Support Programme
(SSP)

A cash incentive granted for skills development
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10.2 Industrial development
policies in South Africa

10.2.1 Industrial development policies

Reasons for industrial development
Exploit the world economy to trade and acquire knowledge.
Maintain macroeconomic stability.

Achieve high rates of savings and investment.
Establish large scale manufacturing, agricultural, mining and

services production.

Diversification of the economy.
Develop domestic manufacturing capacity to increase exports.

Create jobs.

Develop and maintain appropriate incentives to attract investors.
Contribute to the industrial development of the African continent.

National Industrial Policy Framework (NIPF)
Is the industrialisation policy of the Department of Trade and Industry.

Aims:

1. To make the economy more diverse so that exports can increase.

2. To make industrialisation more intensive in the long run.

3. To promote the development of labour-intensive industries.

4. Greater participation by disadvantaged groups and development
of marginalised areas.

5. Increase potential for large scale production.

Industrial Policy Action Plans (IPAP)
As part of the NIPF, the DTI developed a revised three-year rolling
action plan each year with a ten year outlook.

First Industrial Policy
Action Plan (IPAP-1),

Second Industrial
Policy Action Plan

Third Industrial Policy
Action Plan (IPAP-3),

2007 (IPAP-2), 2011 2012
Establish a new support | Increase the Launch manufacturing
programme for the availability of Competitiveness
clothing and textile financing for industrial | Enhancement
industry development Programmes

Provide a programme
to assist the motor
industry

Improve the
procurement policy
under BBBEE policy

Develop special
economic zones
including IDZs

Strengthening the

Strengthening the

Provide government

management more
efficient and increase
job creation

competitive practices

Competitions Act trade policy support for regional
Increase energy savings economic development
Make business Reduce anti- Encourage integration

of South Africa into
Southern African
region
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10.2.2 Industrial development strategies

* National Research and Development Strategy (NRDS)
* Integrated Manufacturing Strategy
- The IMS focus on improving competitiveness in manufacturing
by looking at a range of factors, such as input prices, improving
infrastructure, technology and innovation, skills and effective
regulation.

Focus of these policies and actions

* Targeted industries, sectors and regions
e Sectors with potential

e Special Economic Zone (SEZ)

e Southern Africa

10.3 Regional development
10.3.1 Aims

Reduce unequal development of economic activities within the
country

¢ To stimulate development in poorer areas

¢ To implement and coordinate the implementation of national and
regional industrial policies

* To prevent new imbalances from emerging

10.3.2 Regional development in South Africa

* An estimated 80% of the country’s GDP is produced in four
industrialised areas, namely:

- Johannesburg-Pretoria-Tshwane
- Durban-Pinetown

- Cape Town metropole

- Port Elizabeth-Coega-Uitenhage

e Reasons for the uneven geographical economic development
- Unequal spending on regional development
- Uneven distribution of economic resources, such as natural

resources and skilled workforce

¢ The regional development policy aims to promote a more even
spread of industries so that capital and labour can be directed
towards under-developed areas.

* Regional development is currently based on the Spatial Development
Initiatives (SDIs), Special Economic Zones (including IDZs and
corridors)

¢ The Integrated Manufacturing Strategy (IMS) was implemented
by the DTI to assist industries to grow by identifying certain cross
cutting issues and competitive input sectors. The cross cutting issues
are technology, human resource development, access to finance
and infrastructure. The competitive input sectors are transport,
telecommunications and energy.

* Strategic Integrated Projects (SIPs) are being implemented to uplift
economic and social infrastructure projects across the country. There
are currently 17 identified SIPs.
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10.3.3 International best practice for
regional development

These are the best

international practices for regional industrial

development policies:

Best practice

Description

Good governance

Regional development strategies should be managed
effectively and free of corruption. Democratic decision-
making, transparency, financial management and control.

Integration

An integrated approach, ensuring that the benefits of one
region spill over to other industries and areas.

Partnerships

Partnerships should be built between central government,
local authorities, civil society, special interest groups,
NGOs and the private sector.

Provision of Sufficient resources should be provided in resource-poor
resources areas, e.g. infrastructure, human resources.
Competitiveness | Industries or business established as a result of regional

policies should be competitive and not need ongoing
financial aid from government.

Development
of people, for
people, by people

Regional development concerns people, and aims to serve
the people of the region. Training, education, improving
productivity and providing essential goods and services to
raise the standards of living in regions. People should be
involved.

Development
from below

Concentrate on issues at grass roots level where most
urgent human needs exist. It starts by dealing with poverty.

Total
development as a
multi-dimensional
process

Treat development from a global perspective covering all
human life, including the interaction of special forces in a
community, e.g. education, health, nutrition.

10.4 South Africa’s endeavours

10.4.1 Spatial Development Initiatives (SDIs)

SDlis a policy to promote sustainable industrial development in areas where
poverty and unemployment are at their highest. It can be defined as a link
between important economic hubs and regions in a country. The main
objective is to stimulate economic growth and employment in those regions.
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These are the main SDIs and their economic focus:

SDI Economic area
KwaZulu-Natal SDI Industrial
Wild Coast SDI Agri-tourism
Fish River SDI Industrial
West Coast Investment Initiative Industrials and agri-processing
Coast to coast Corridor Transport and Tourism
Platinum SDI Mining and agri-tourism
Phalaborwa SDI Industrial and agri-tourism
Gauteng Special Economic Zone Information technology,

telecommunications

Maputo Development Corridor Industrial and agri-processing
Lubombo SDI Agri-tourism
Richards Bay Initiative Mining, industrial and agri-processing

Financial incentives for SDls:

¢ Duty-free incentives - duty-free import of raw materials or
intermediate goods.

* Small and Medium Enterprise Development Programme (support
operations).

*  Skills support programme - tax-free grants for skills development.

e Critical infrastructure programme - cash grant to build or expand
physical infrastructure.

* Foreign investment grants - cash grant to foreign companies that
want to invest in new manufacturing businesses.

10.4.2 Industrial Development Zones (ID2Z)

A purpose built industrial estate linked to an airport or seaport with export
as the main objective (it will be incorporated into the SEZ in future).

These are the current IDZs in SA:

e Coega - Steel and auto components

* OR Tambo International Airport - high tech industries
e East London - vehicles

* Richards Bay - metals

e Saldanha Bay - steel

10.4.3 Special Economic Zones (SEZ)

Geographically demarcated area where specific economic activities have
been identified to be developed. These areas may enjoy incentives such as
tax relief and support systems to promote industrial development.

It creates a basis for a broader range of industrial parks and provides
economic infrastructure to enable the effective clustering of value-adding
and employment-enhancing manufacturers.
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10.4.4 Corridors

A corridor is a track of land that forms a passageway allowing access from
one area to another and is developed as part of regional development
(also forms part of an SDI).

10.4.5 Strategic Integrated Projects (SIPs)

Integration of economic and social infrastructure projects in the country.
There are currently 17 designated projects identified. The Strategic
Integrated Projects main objective is to identify and implement projects to
achieve the provisioning of infrastructure.

10.4.6 Infrastructure plan

The focus is on assessing infrastructure gaps and needs in terms of
population growth. The main focus is on water, electricity, roads, sanitation
and communication.

10.5 Incentives to encourage
industrial development

10.5.1 Small Business Support Program

* This programme is designed for small businesses with assets of
R100 million or less.

* This incentive consists of a tax free cash grant for investment in
industries.

* Grants were available to new and expanding businesses.

* Grants are given for three years after which the company is expected
to become self-sustaining.

10 5.2 Seda Technology Program (STP)

STP was created as part of government’s national strategy

of consolidating and rationalising small enterprise support
interventions across the different government departments and
government agencies, within the overall objective of improving the
delivery of small business support services to entrepreneurs and
small enterprises.

10.5.3 Skills Development Programme (SSP)

* This a cash incentive to encourage greater investment in skKills
training and to introduce new, advanced skills to the SA labour force.
* A maximum of 50% of a company’s trading costs are covered.
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10.5.4 Critical Infrastructure Programme
(CIP)

e [tis a cost sharing grant for projects designed to improve
infrastructure in SA.

e It covers a qualifying development cost between 10% and 30%
towards the total development cost.

* |t becomes available on completion of the project.

* |t extends to both the public sector (e.g. municipalities) and private
sector (companies).

e [tis deemed “critical” if the investment had not taken place or would
not work optimally without the infrastructure.

10.5.5 Custom free incentives

¢ These incentives are aimed at export orientated manufacturing
businesses that operate in the IDZs and SEZs.

e Duty-free imports on intermediate products that will be used in the
IDZ to produce other final goods.

10.5.6 Foreign investment incentives

e ltis a cash incentive to assist foreign investors who want to invest in
new manufacturing businesses in SA.

e [t covers the cost of relocating new machinery and equipment from
abroad.

* |t becomes available to any registered company who would like to
operate in the manufacturing sector.

e [talso covers up to 15% of the costs of new machinery and
equipment to a certain value.

* Strategic Investment Programme.

10.5.7 Services to business processes

¢ The BPS aims to attract investment and create employment in South
Africa through off-shore activities.
¢ Abase incentive as a tax exempt grant is paid over three years for
each offshore job created and maintained.
* A graduated bonus incentive is paid as follows:
- 20% bonus for more than 4 000 but less than 8 000 offshore
jobs paid once off in a year in which the bonus is reached;
- 30% bonus for more than 8 000 offshore jobs paid once off in
the year in which the bonus level is reached.
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10.6 Appropriateness of South
Africa’s industrial policies

10.6.1 Success factors

* GEAR did not do enough to promote development and an increase in
economic growth did not occur.

Asgisa policy was not successful in the main aim of reducing
unemployment and increasing skills.

The New Growth Path has not seen any decrease in the number of
people who are unemployed.

The National Industrial Policy Framework is an appropriate policy
within best practice, but is hindered by an unemployment problem.
SDIs the growth rate is lower than expected despite the huge amount
spent on improvement on infrastructure in the SDIs. The main aim of
creating employment has not been achieved.

IDZs - growth has been very slow. The incentives offered were not
attractive enough. Investors have not been attracted to Gauteng and
Saldanha Bay as expected. Coega and Richards Bay have been more
successful.

Regional development is still uneven, concentrated mainly in the
four metropolitan areas.

Workers still have to move where employment is.

Small business development - specific government programmes
were successful. The promotion of entrepreneurship (amongst
women and youth) have been reasonably successful. Improved
access to finance and capital, information and advice have been
reasonably successful.

10.6.2 External limitations

* Global recession had a severe negative effect on the manufacturing
industry.

* An unstable exchange rate resulted in slow economic growth and
development in the industrial sectors.

10.6.3 Internal limitations

* Huge increase in electricity and logistic costs - these price hikes
affected smaller businesses and many more were forced into
bankruptcy.

* Skill shortages - slow progress in addressing this need.

* Infrastructure -backlogs in expenditure at all government levels.

* Restructural scale - government sectoral programme to restructure
the industrial economy was not of a significant scale for the
structural scale envisaged.

* Neglect of larger firms - much emphasis has been placed on
smaller firms and larger firms were neglected.

* Uncompetitive behaviour of firms — competition policy needs to be
strengthened to counter high levels of industry concentration and
anti-competitive behaviour.

* Poor industrial financing - insufficient financing to meet South
Africa’s investment and industrialisation challenges.
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10.7 Appropriateness of South
Africa’s regional development
policies

The regional policy is underpinned by most important international best
practice principles: job creation, human development and macro- and
microeconomic development. It focuses on:

*  Workers-to-the-work: The priority is on employment creation. Workers
have to move to where employment is.

* Work-to-workers: This is internationally regarded as the policy most
likely to affect long-term problems of structural unemployment
(unemployment resulting from a mismatch between demand in the
labour market, and the skills and locations of workers).

10.8 Small business development

policies
* The Department of Trade and Industry has various programmes in
place to support SMMEs.

* The creation of employment for structurally unemployed people.

* Focus is on incentives for small businesses.

* Providing easier access to capital, information, business advice.

* Promotion of entrepreneurial development among women and
the youth.

10.9 The appropriateness of black
economic empowerment in the
South African economy

* This strategy is in line with the empowerment of indigenous people
in the development in developing countries. It is in line with the UN
and World Bank development initiative of indigenous people in a
country.

e Benchmark criteria.
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“ Activity 1
'—v

he logos in Figure 10.1 and answer the questions that follow:

il == IDC

Trade and Industry
REPUBLIC OF SOUTH AFRICA Industrial Developrment Corpoaration

Figure 10.1: Logos

1. What government bodies do the acronyms in the logos stand for? (2)

2. Define the concept industrial development. (2)
3. Describe in your own words the important role of these
institutions. (2)
[6]
Answers to activity 1
1. DTl - Department of Trade and Industry/
IDC - Industrial Development Corporation/’ (2)
2. Refers to policies that are aimed at the encouragement of
industrial investment and greater industrial efficiency. v'v/ (2)
3. They promote industrial development in underdeveloped
regions./ v/ (2)
(6]

Q Activity 2
S

Discuss any TWO international best practices in terms of regional
development. [8]

Answers to activity 2

1. Total development as a multidimensional process v This is
from a global development perspective. It includes all dimensions
of human living, including the interaction of social forces in a
community, e.g. education, health, nutrition.v/ v/

2. Development from within +/ v/ This is endogenous or independent
development. In the past development programmes were
forced upon regions. Now regions strive for independence with
development assistance from outside included in their strategies.
Local physical resources, human resources and energy are

utilised.v'v' [8]
Q Activity 3
l——-'
Explain the rationale of industrial development highlighting the past and
present approaches. [8]
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Answers to activity 3

1. Past: Manufacturing development /v is a method to advance
economic development. It is financed by foreign loans, aid and
generous financial and other incentives received by businesses. v'v'

2. Present: Emphasis has shifted to industrial development v'v" -
services and agricultural activities - focus on role for SMMEs
- policies continue to exist — aim to export, employ and raise
standard of living. v'v/ [8]

Q Activity 4

4
Study Figure 10.2 and answer the questions that follow:

(&EEATING JOBS - INDUSTRIAL DEVELOPMENT ZONES

Johannesburg IDZ
Still to be developed

East London IDZ
* Jobs created
to date: 930
manufacturing and
related jobs
/1 ¢ Value of investment
Coega IDZ to date: R1,3 billion

Richards Bay IDZ
The R670 million
Tata ferrochrome

* Motor industry ﬂ/ ~ plant employs 300
* Jobs created: 4/ people. Possible future

7 147 investment of
¢ Value of investment \/‘VN 155 R400 million could
to date: R2,1 billion create another 400 jobs

Figure 10.2: Creating jobs. Industrial development zones

1. Define the concept IDZ. (2)
2. Listany TWO IDZ 's from the map. (2)
3. Mention the industry involved in TWO of the above mentioned IDZ’s. (2)
4. Discuss an incentive applied to businesses within the IDZ. (4)

[10]

Answers to activity 4
1. Industrial Development Zones are purpose-built industrial estates
that are physically enclosed and linked to an international port or
airport.v/ v/ (2)
2. Johannesburg,/ Richards Bay, v East Londonv and Coega v/
(any 2) (2)
Coega = motor industrys/” and Richards Bay = metal industryv” (2)
4. No duties are paid on imported goods.v v/
Designed to encourage domestic and foreign businesses to open

w

in an IDZ and produce goods and services for export. v'v/ (4)
Keep going! [10]
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South Africa’s
economic and social
indicators

Economic and social indicators are useful tools to determine a country’s
well-being. There are many economic and social indicators, including

production, employment, education and demographic indicators.

Overview

TOPIC CONTENT SCOPE AND DEPTH OF EXAMINABLE
CONTENT
11. Analyse South Africa’s economic and » Define/explain the relevant concepts
Economics: social performance indicators and their uses * Broadly outline the performance of an

basic concepts
and quantitive
elements:
Economic

and social
performance
indicators

The Performance of an Economy
- Performance

- Comparisons

- Specifications

- Purposes

Economic Indicators:
- Inflation Rate
- Production prices (PPI)
- Consumer prices (CPI)
- Foreign Trade
- Terms of trade
- The exchange rate
- Employment
- Economically Active Population (EAP)
- Employment rate
- Unemployment rate
- Productivity
- Labour productivity
- Remuneration per worker
- Interest Rates
- Repo Rate

economy

HOT QUESTION: Propose five
considerations when assessing the
performance of an economy

* Analyse the economic indicators in
detail
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- Money Supply
- M1
- M2
- M3

* Social Indicators: ¢ Analyse the social indicators in detail
- Demographics
- Population growth HOT QUESTION: Identify five social
- Life expectancy indicators that are used for international
benchmarking and give an analysis of

- Nutrition and Health ..
their importance

- Nutrition
- Malnutrition
- Obesity
- Health
Infant mortality

Under 5 mortality

Spending on health
Access to clean water

- Access to sanitation
- Education
- Percentage public sector spending

- Percentage enrolment in Secondary
Schools

- Services
- Electricity
- Refuse/Garbage removal
- Water supply
- Sanitation
- Housing and Urbanisation
- Housing
- Number of houses completed
- Urbanisation
- Natural growth in population
- Migration
- Founding of new towns

¢ International Comparisons
Globalisation

International standardisation

Aid and support

Comparison and forecasting

© Department of Basic Education 2014
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11.1 Key concepts

These definitions will help you understand the meaning of key Economics
concepts that are used in this study guide. Understand these concepts

well.

Use mobile
notes to help you learn
these key concepts.

Term

Learn more about
mobile notes on page xiv

Definition

Consumer Price
Index (CPI)

in the introduction.

Measures changes over time in the prices of an
average market ‘basket’ of consumer goods and
services purchased by households

Economically active
Population

(EAP)

All persons of either sex between the ages of 15 and
65 who supply labour for productive activities

International
Monetary Fund (IMF)

An organisation working to promote employment,
exchange rate stability, and international trade and
economic cooperation by making financial resources
available to member countries to meet their balance of
payments needs

System of National
accounts (SNa)

Techniques which include double-entry accounting, for
measuring the economic activity of a nation

United Nations
Children’s Fund
(UNICEF)

An international body working for the development of
children’s rights, and their survival and protection

World Bank

The international bank established to promote
economic recovery and development
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11.2 The performance of an
economy

When we assess the economy, there are a few things that should be

considered:

e Performance
Economic indicators are used to establish the state of the economy.
An economic indicator is a statistic (data) that shows the behaviour
of one or other variable.

e Comparisons
Changing statistics (data) inform us of changes in the economy.
By comparing these changes we can determine whether there is a
growth or slowdown in the economy.

e Specifications
To be meaningful, indicators have to be compiled in terms of their
rules of compilation.

e Purposes
Indicators are compiled for specific purposes. Example, the CPl is
calculated to show increases in consumer prices and reflect the cost
of living.

11.3 Economic indicators

11.3.1 Price change indicators

Price increases occur either because of scarcities of a product or changes
in consumer preferences. Price increases over long periods of time are
known as inflation.

There are two key price change indicators:

* Producer Price index (PPI): This is the indicator used to measure
an increase or decrease over time in the prices of goods produced
locally when they leave the factory floor; and an increase or decrease
in the price of imported goods.

* Consumer Price index (CPI): Weights are obtained from the
expenditure of households and show changes in the purchasing
power of the rand. This is the official index used in inflation targeting.

11.3.2 Foreign trade indicators

International trade is important in a globalised world. Exports stimulate

employment and imports widen the choice of consumers.

e Terms of trade: The ratio of export and import prices. If the ratio
deteriorates (gets worse), a greater volume of exports must be
produced that may cause a spill-over effect into the balance of
payments.

* Exchange rate: The value of one country’s currency in relation to
another country’s currency.

© Department of Basic Education 2014
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11.3.3 Employment indicators

¢ The economically active population (EAP): The labour force
betweenl5 - 65 years of age.

*  Employment: The number of employed persons as a percentage of
the economically active population (EAP), e.g. 73.5% in South Africa.

* Unemployment: The unemployed (who are actively looking for work)
as a percentage of the economically active population.

11.3.4 Productivity indicators

Labour productivity is watched very closely, particularly in relation to real

wage increases.

e Labour productivity: This is measured by dividing the real GDP by the
number of workers employed.

* Remuneration per worker: If productivity increases are lower than
the real wage increases, inflationary pressures will occur.

11.3.5 Interest rates

Interest is the charge made for borrowing money.
* Repo rate is one of the most important interest rate indicators. It is
the rate at which the SARB lends money to banks.

11.3.6 Money supply

The supply of money is controlled by the SARB. The money is classified in

three categories.

* MJ1: notes and coins in circulation and demand deposits of the
domestic private sector at banks.

e M2: M1 plus other short term and medium term deposits of the
domestic private sector at banks.

*  M3: M2 plus long term deposits of the domestic private sector at
banks.

11.4 Social indicators

Social indicators are concerned with people. They monitor identifiable and
definable issues related to human well-being over a period of time.

11.4.1 Demographics

The size of the population is important for infrastructure and social

programmes.

* Population growth: The population numbered 46.8 million in 2005.
Growth is slowing down. Measuring population growth is important
for delivering social services and for identifying the size of the tax
base (the total number of people paying taxes).

* Life expectancy: South Africa’s life expectancy rate is down from
62,8 years to 47 years.
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11.4.2 Nutrition and Health

The standard of living of the population is related to the quality of nutrition
and health:

Nutrition

Child malnutrition: Malnutrition is expressed in two ways - weight
for age (under weight) and height for age (dwarfism). The proportion
of underweight children is the most important indicator of
malnutrition.

Overweight children: there is an association between obesity of
children and other diseases.

Health

Infant mortality: The number of children that will die before one year
of age is one way of measuring the health of a population.

Under-five mortality: the number of children that will die before the
age of b years.

Health expenditure: the amount of health expenditure as a
percentage of GDP.

Access to safe drinking water: the percentage of a population that
has reasonable access to safe drinking water.

Access to sanitation facilities: the percentage of a population with at
least adequate sanitation facilities that can prevent human, animal
and insect contact.

11.4.3 Education

The standard of living is related to the level of education. Education is a
key social indicator:

Public expenditure: The percentage of the national budget that is
directed towards education.

Secondary enrolment: This shows the percentage of an age group
attending high school.

Primary completion: The percentage of an age group that has
completed primary education is an indicator of the efficiency of the
education system.

Youth literacy rate: The percentage of the 15-24 age group that are
literate.

11.4.4 Services

A number of services that are vital to enhance people’s lifestyle and level
of economic and social development:

Electricity
Refuse removal
Water supply
Sanitation
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-

Learn these four points that
are used by international

organisations to measure a
country’s level of economic

and social development.

N

11.4.5 Housing and urbanisation

The standard of living of the population is related to the quality of their
housing and services:

Housing

* Housing: Many South African citizens are poor and cannot afford
property. The government supplies housing subsidies and the private
sector provides housing loans.

Urbanisation

The level of urbanisation is one of the indicators of a country’s social
development. It is measured by:

* Natural growth of the urban population

* Migration

* Establishment of new towns

11.5 International comparisons

International comparisons are the key means of measuring a country’s
economic and social development.

11.5.1 Globalisation

* International trade: Payments are affected by the exchange rate.

* Internationalisation: Branch offices in foreign countries monitor
indicators to publish financial reports in a single currency and pay
dividends in different currencies.

11.5.2 International standardisation

* Economic and social indicators are useful. International
organisations, like the World Bank and the IMF, are very specific in
determining, utilising and applying these indicators.

* Benefits from organisations cannot be measured if indicators are not
available, e.g. bridging finance from the IMF, World Bank and the UN.

11.5.3 Aid and support

* Foreign countries, governments, international institutions and NGOs
are globally involved in providing financial aid.

* Acountry needs indicators, including domestic income, production
and expenditure, poverty, education and health data, to receive aid
and to measure the impact of this aid.

e Human rights (children’s rights), environment (pollution) and
governance (corruption) indicators might also be requested by aid
organisations.

11.5.4 Comparison and forecasting

* Capital markets are liberated through globalisation.

e Capital moves where it receives the best returns.

* Publications for global players give indicator values for the 3 previous
and 3 future years to spot underlying trends.
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Q Activity 1
S

Choose the correct word between brackets:
1.

2.

3.

1.

2
3.
4.
5

The key rate of interest in SA is the (repo/exchange) rate. (2)
The growth performance of a country is measured in terms of
the (per capita real GDP/increase in the real GDP). (2)
The economically active population is the labour force between
15 and (55/65) years of age. (2)
The index used to determine the prices of inputs is called the
(consumer/producer) price index. (2)
Social indicators are concerned with people, such as education
and (corruption/health). (2)
[10]
Answers to activity 1
Repo rate vV (2)
Increase in the real GDPV'V (2)
65/ v (2)
Producerv v/ (2)
Healthv/ v (2)
[10]

a Activity 2

l——v
Give ONE answer for each of the following;:
1. Aninternational bank established to promote economic
recovery and development (2)
2. Used to establish the performance of the economy in terms
of basic economic objectives of growth, price stability,
exchange rate stability and full employment (2)
3. ltis depicted in the Lorenz curve and shows the distribution
of income (2)
4. The price of one country’s currency in terms of another
country’s currency (2)
5. Ratio of export and import prices (2)
[10]
Answers to activity 2
1. World Bankv/ v/ (2)
2. Economic indicatorv/ v’ (2)
3. Gini coefficient v'v/ (2)
4. Exchange rate/ v/ (2)
5. Terms of tradev/ v (2)
[10]
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Q Activity 3

ey

Distinguish in tabular form between the Consumer Price Index and the
(2 x 4) [8]

Producer Price Index.

Answers to activity 3

PPI

CPI

Producer Price Index: an index that
assesses the impact of changes v/
in the relative prices of production
inputs v/

¢ Relates to the cost of production

v
» Basket consists of goods onlyv' v/

* Capital and intermediate goods
are includedv v/

* Prices exclude VAT vV
* Interest rates are excluded v'v/

* Prices of imported goods are
shown explicitly v/v/

Consumer Price Index: an index that
measures the price v of a fixed
basket of consumer goods and
services v/

* Relates to the cost of living v/

¢ Basket consists of consumer
goods and services v'v

¢ Capital and intermediate goods
are excluded v'v/

* Prices include VAT vV

* |Interest rates are taken into
account v'v/

* Prices of imported goods are not

shown vV

(8]

Keep going!
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Inflation

Inflation occurs when there is a sustained and significant increase in
the general price level over a period of time. At the same time, there is a
decline in the buying power of money, i.e. the general price level increases
more than the general increase in wages or salaries.

Overview

TOPIC CONTENT SCOPE AND DEPTH OF EXAMINABLE
CONTENT
12 Analyse and investigate inflation and the
Economic Issues | policies used to combat it
of the day: Inflation
Inflation « Definition » Define/explain the concept

* Measuring Inflation
- Indexes (CPI/PPI)
- Weighting (Basket of goods and services)
- Inflation Rate (Calculations)

* Types and Characteristics of Inflation
- Consumer Inflation
- Headline Inflation
- Core Inflation
- Administered Prices Inflation
- Producer Inflation
- All inclusive Inflation
- Hyperinflation
- Stagflation
- Comparison of inflation rates

¢ Causes and consequences of inflation
- Demand-pull inflation

- Monetarists explanation

- Causes of demand inflation
- Increase in household consumption
- Decline in saving
- Tax reduction
- Access to credit
- Investors expenditure
- Government expenditure
- Export services

e Examine ways to measure inflation

» Define/explain the different types of
inflation

* Distinguish between the different
types of inflation

* Briefly discuss demand-pull inflation

e Analyse the causes of demand-pull
inflation

170 CHAPTER 12 INFLATION
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- Cost-push Inflation
- Causes of cost-push inflation
- Wages
- Key inputs
- Exchange rate depreciation
- Profit margins
- Productivity
- Natural disasters

- Consequences of Inflation, on
- Debtors/Creditors
- Wage and salary earners
Investors and savers

Taxpayers

Industrial peace
- Expectancy and Inflation

* The inflation problem in South Africa

* Measures to Combat Inflation
- Demand-pull inflation
- Monetary policy
- Fiscal policy
- Cost-Push Inflation
- Productivity
- Competition

» Briefly discuss cost-push inflation

¢ Analyse the causes of cost-push
inflation

¢ Examine in detail the consequences of
inflation

» Broadly outline the inflation problem in
South Africa

e Examine the measures to combat
inflation in detail

* Use the following information to
calculate the CPI for September 20...

HOT QUESTION: What effects does
inflation have on the current account of
the South African BoP?
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12.1 Key concepts

These definitions will help you understand the meaning of key Economics
concepts that are used in this study guide. Understand these concepts well.

Term Definition
Administered prices | Prices set or controlled by government
Core inflation Excludes items from the CPI basket that are highly volatile

or prices affected by government policy

Cost-push inflation |Occurs when there is an increase in the general price level
caused by an increase in the cost of production
Consumer Price An index that measures the price of a fixed basket of
Index (CPI) consumer goods and services

* Relates to the cost of living

* The basket consists of consumer goods and services
» Capital and intermediate goods are excluded

* Prices include VAT

* Interest rates are taken into account

* Prices of imported goods are not shown

Demand-pull Occurs when the aggregate demand for goods and services

inflation exceeds the aggregate supply of goods and services

Headline inflation |Unadjusted CPI figures

Hyperinflation An inflation rate above 50%. People lose confidence in the
value of money and start bartering goods and services

Inflation A sustained and significant increase in the general price

Monetary Policy
in South Africa is
formulated and implemented
by SARB within an inflation
targeting framework. SARB
works closely with Treasury,
but it has operational
independence.

level over a period of time; and a simultaneous (at the
same time) decline in the buying power of money
Inflation targeting |Forms part of monetary policy and is managed by the
Reserve Bank to keep inflation within the range as set by
the Minister of Finance (between 3% and 6%)

Monetary Policy Consists of the Governor of the Reserve Bank, 3 deputy
Committee (MPC) |governors and another 3 members. Their main purpose is
to determine an interest rate that will be consistent with
meeting the inflation target

Producer Price Assesses the impact of changes in the relative weighting of
Index (PPI) production inputs:

e Pertains to the cost of production

* The basket consists of goods only

* Capital and intermediate goods are included

* Prices exclude VAT

* Interest rates are excluded

* Prices of imported goods are shown explicitly
Stagflation Low growth, high unemployment and high inflation

rates occur simultaneously

12.2 Measuring inflation (define,
explain, examine)

Price indexes are used to measure the changes in the general price level.

The following are important concepts related to measuring inflation:

1. Indexes: A price index is compiled by using the prices of a representative
range of goods and services which are recorded on a regular basis.

© Department of Basic Education 2014
172 CHAPTER 12 INFLATION Mind the Gap CAPS Grade 12 Economics



2. Weighting: The difference in the importance of items in an index
is solved through a weighted index which reflects the relative
importance of each item.

3. Inflation rate: The inflation rate is determined by using changes in
the CPl and/or PPl index. The figures for each month are compared
to the corresponding month in the previous year.

4. Inflation targeting: Forms part of monetary policy set by government and
is managed by the Reserve Bank to keep inflation within the range as
set by the Minister of Finance (between 3% and 6%). The aim of inflation
targeting is to keep the inflation rate at low and more stable levels.

12.3 Types and characteristics of
inflation

There are two main types of inflation - demand-pull inflation and cost-
push inflation. Their characteristics are explained below:

12.3.1 Consumer inflation

¢ Headline inflation: it is measured by the CPl and is calculated for
urban areas only. It represents the cost of a shopping basket of
goods and services of a typical SA household. Stats SA identifies
1 500 different consumer goods/services, assigns a weight to each,
decides on a base year, on formula and on the collection of prices.
The unadjusted CPI rate is known as headline inflation.

¢ Core inflation: it is published by Stats SA and excludes items from the
CPI basket with highly volatile prices and those affected by government
intervention and policy, e.g. fresh and frozen meat and fish, vegetables,
interest rates on mortgage bonds, VAT and assessment rates.

¢ Administered prices: the prices are set by government or controlled by
government through appointed authorities. Price changes must remain
within the inflation target prescribed by the Minister of Finance.

12.3.2 Producer inflation

PPl is used to measure the prices of domestically produced goods. It also
shows domestic output. When the rand depreciates it will first be reflected
in the PPI.

Differences between CPI and PPI:

CPI:

* Pertains to cost of living

e Basket consists of consumer goods and services
e Capital and intermediate goods are excluded

* Prices include VAT

* Interest rates are taken into account

e Prices of imported goods are not shown

¢ Pertains to cost of production.

* Basket consists of goods only.

e Capital and intermediate goods are included.
* Prices exclude VAT.

* Interest rates are excluded.

*  Prices of imported goods are shown explicitly.

The main way
in which inflation is
measure are:
Changes in CPl; Changes
in PPl; Changes in
implicit GDP
deflator
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Note that
demand inflation
is the same thing as
demand -pull inflation.
Cost inflation is the
same thing as cost-
push inflation.

12.3.3 All-inclusive inflation

* Economists check what happened to prices of all final goods and
services produced in a particular year.

e Use the calculated implicit GDP deflator.

* GDP figures at current and constant prices are used as published in
the national accounts.

e GDP at constant prices measures economic growth and measures
inflation.

* Measures the inflation rate for economy as a whole.

* Implicit GDP deflator is the ratio of GDP at current prices to GDP at
constant prices.

* To determine inflation:

GDP deflator for next year , 1o
GDP deflator for previous year )

12 3.4 Hyperinflation

Very high rate of inflation (more than 50%).

* Price levels rise so rapidly that people lose confidence in the value of
money.

e Becomes difficult for the economy to operate.

* People resort to goods as medium of exchange - barter.

12.3.5 Stagflation

A low growth rate, high unemployment and high inflation rate.

12.3.6 Comparison of inflation rates

¢ Annual inflation rates of CPI, PPl and GDP deflation are provided.

* For policy purposes and forecasting all these indexes as well as other
implicit deflators are considered.

* For the consumer the CPI is by far the most important indicator
because it relates to their cost of living and the interest rate policy of
the Reserve Bank.

12.4 The causes of inflation
12.4.1 Demand-pull inflation

Demand-pullinflation occurs whenaggregate demandinan economyoutpaces

(is faster than) aggregate supply, even though gross domestic product rises

and unemployment falls. Effectively, too much money is spent chasing too few

goods. Generally, an increase in the supply of demanded goods will reverse

the inflationary trend. Some of the characteristics of demand-pull inflation are:

* Aggregate demand rises more than aggregate supply, causing an
increase in the general price level.

* Groups that are responsible: Consumers, businesses and government.

* Foreigners’ contribution: They further increase the demand for our
goods and services through an increase in exports.

* Relative increase in aggregate demand’s components:
C (consumption spending), | (investment spending), G (government
spending), M (cost of imports).

* Decline savings: if savings habits are changed and consumers start
spending their current and accumulated savings, growth in aggregate
demand can outstrip growth in aggregate supply
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* Tax reduction: If personal income tax is reduced more money is
available for private consumption expenditure.

* Access to credit: Ggreater availability of consumer credit (credit cards)
and cheaper credit - credit multiplier kicks in

and more credit is created. Genaral Prics

AS (Aggregate

* Figure 12.1 illustrates an increase in Level (CPI) Supply)
aggregate demand from AD, to AD, and 4
a single aggregate supply AS,. As the P2
aggregate demand increases, the price level
and production output will also increase D,
until full employment is reached. The initial P1
increase in demand will have a positive AD (Aggregate
influence on production, employment and Demand)
income, but when full capacity is reached
further increases in demand will lead to 5 SFVE » GDP
price Increases. (Real Gross

Domestic Product)

Causes of demand-pull inflation Figure 12.1: The inflationary process

There are many causes of demand-pull inflation.

Some of these are:

* Increase in household consumption: due to easily available credit, a
reduction in taxes and less savings.

* Investors expenditure: may lead to higher profit expectations of
businesses. They will invest more, this might lead to an increase in
the demand for goods and services.

e Government expenditure: an increase in government spending leads
to an increase in prices. More money comes into circulation due to
an increase in spending on infrastructure, consumption spending
and social spending.

* Export earnings: the growth in foreign countries might create an
increased demand for locally produced goods without an increase in
production.

* The Monetarist explanation: According to the monetarists sustained
high rates of growth in the money supply cause high inflation, while low
rates of growth cause low inflation. They base their view on the quantity
theory of money (MV = PT). They make three basic assumptions: the
velocity of circulation of money is stable; the quantity of money is
exogenously determined by monetary authorities and real output is
determined by the quantity and quality of various factors of production.

12.4.2 Cost-push inflation

Cost-push inflation is caused by an increase in the cost of goods or services

that are very important to the economy, and for which no alternatives

exist. Examples can be spikes in the oil price due to war, huge price rises

in essential food products due to drought, or excessive increases in the

cost of labour due to control of industries by trade unions. Some of the

characteristics of cost-push inflation are:

* Anincrease in labour costs: Aggressive trade union negotiations
push the price of labour up above the increase in productivity.

¢ Producers increase profits: Prices rise more than the rise in
production costs.

e The state imposes a higher VAT rate.
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* Expensive imported products (intermediate goods) cause an
increase in the prices of locally finished goods.

* Lower productivity but the same remuneration: The cost of
production increases.

* Natural disasters: Floods or droughts increase the cost of production.

* Increased total costs on the supply side.

We have supplied
you with a variety of
facts - memorise one
page per day! You
can do it!

Causes of cost-push inflation

e Wages: an increase in wages constitutes 50% of GVA at basic prices
and is one of the major causes of cost-push inflation.

* HKey inputs: When the prices of key input goods that are imported,
increase, domestic cost of production increases especially in the
manufacturing sector.

* Exchange rate depreciation: The depreciation in the rand will lead to
more expensive imports.

* Profit margins: When businesses increase their profit margins, their
cost of production and prices consumers must pay, will also increase.

* Productivity: Less productive factors of production will lead to
increased cost per unit.

* Natural disasters: Prices will increase due to weather changes such
as droughts, floods and global warming.

Expectancy and inflation

The inflationary process is triggered by demand pull and cost push inflation.

The role of inflationary expectations:

e during inflation consumers expect prices to rice and start to buy
more goods

* labour unions wish to protect their members’ income against erosion
of purchasing power caused by inflation

* expectation that wages will rise encourages some businesses to
increase prices in advance.

12.5 The consequences of inflation

e Debtors/Creditors: debtors benefit because they receive money with
a high purchasing power and repay their debt with money with low
purchasing power. Creditors on the other hand suffer.

* Wage and salary earners: people with a fixed income will be able to
purchase less as prices are rising.

* Investors and savers: Assets with a fixed nominal value have a fixed
return and lower purchasing power as prices increase. Real value of
savings decreases.

* Tax payers: In South Africa income is taxed on a progressive
system. We experience a bracket creep, resulting from inflation and
progressive income tax and the government benefits.

* Disruption of industrial peace: Wage bargaining is accompanied by
strikes and mass action.

SUMMARY: Fiscal policy
makes use of tax increases
and spending cuts to combat
inflation.

12.6 Measures to combat inflation

Policy makers can use various policy measures to fight inflation when it
gets too high. Three types of policy measures are highlighted.
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12.6.1 Fiscal measures

Fiscal measures are measures taken by the Minister of Finance regarding

taxation and expenditure. Examples of measures that can be taken include:

* Anincrease in direct taxation (personal income tax) which will help
to decrease demand.

* Anincrease in indirect taxation (VAT) causes spending to decrease
because goods become more expensive.

* Aloan levy. Reduces the disposable income of consumers.

* The state cuts back on expenditure by cancelling government
projects like roads, hospitals and schools.

* The country’s finance budget deficit is non-inflationary (the
government uses loans from the non-banking sector to limit inflation).

* The state imposes surcharges on imported goods. This increases the
price of these imported goods, resulting in many people being unable
to afford to buy these goods.

12.6.2 Monetary measures

The South African Reserve Bank (SARB) and the government apply certain

monetary measures to curb inflation:

¢ The SARB adjusts the quantity of money to the needs of the economy,
(e.g. through open-market policy, thus maintaining a fine balance)
between the supply of goods and services and money supply.

* The SARB curbs inflation caused by excess demand by reducing the
money supply.

¢ The bank rate of the central bank (SARB) affects the interest rates in the
economy (repo rate). The bank rate can be raised to encourage savings.

¢ Excessive credit can be reduced by restricting the granting of credit
by banks.

* The SARB can apply moral pressure (moral suasion) on financial
institutions to be more careful when granting credit.

12.6.3 Other measures

Additional measures that can be taken to combat inflation include:

* Increase productivity: This is a long-term measure generated through
improved education and training which allows more people to be
employed and ensures they are more productive.

¢ Price control: By fixing the price of certain essential goods, the
government assures they remain affordable.

* Wage policy: The government takes a decision to break the
inflationary spiral of increased wages and prices by keeping the
increase in wages below or at the level of inflation.

* Stricter conditions for consumer credit: The government makes it
harder for consumers to get credit in order to restrict their spending.

* Encourage personal savings: The government implements measures
to encourage savings, e.g. by cutting taxes on savings. The imbalance
between demand and supply is corrected by increased savings, as
people save more and spend less.

¢ Import controls are relaxed.

* Floating exchange rate: Prices are automatically adjusted to
international conditions.

* Indexation: A policy of linking prices of items such as wages,
pensions and mortgage bond interest rates to price indices to
eliminate the effects of inflation.

SUMMARY: Monetary policy
involves reducing money
supply to combat inflation.

Use the following word
acronyms to help you
remember these additional
measures to combat inflation:

W - Wage

| = Import

P — Productivity

E — Exchange rate

S — Savings
C — Credit

| — Indexation
P — Price
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Q Activity 1

Sy

Study Figure 12.2 below and answer the questions that follow:

South African Inflation Rate
16
oA\
o N
~

Inflation Rate

o N B O 00

88833888333 3 3
8§ 223383832858 %38 5
Date
Figure 12.2 South Africa’s inflation rate
1. Define the concept inflation. (2)
2. When did the inflation rate peak? (2)
3. Do we adhere to the inflation target set by government
from July 2010-Jan 20117 Supply figures. (4)
4. Explain what you would do to lower the inflation rate in our
country? (4)
5. Which institutions in South Africa make inflation figures
available? (2)
6. What, according to you, caused the double figures in
April-July 2008? 4)
7. Why are these figures in the graph not a reflection of
hyperinflation? 4)
[22]
Answers to activity 1
1. Asustained and significant increase in the general price level over
a period of time. vV (2)
2. July 2008 vv (2)
3. Yes /' Inflation target between 3 - 6 % vV (4)
4. Apply monetary (repo rate) v'v" and fiscal policies
(tax increases) Vv 4)
5. SARB and Stats SA vV (2)
6. Excessive consumer spending. /v Due to the capital
expenditure by the state for the Soccer World Cup vV 4)
7. Hyperinflation starts at 50% v'v' vV (4)
[22]
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Q Activity 2

—v

Study the cartoon below and answer the questions that follow:

~
Before inflation - she goes to the And brings her groceries home in a
market carrying her money in her BASKET

HANDBAG

After inflation - she carries her Brings her groceries home in her
MONEY in a basket, and..... HANDBAG
1. What is the message behind the cartoon? (2)
2. What is happening to the purchasing power of the money? (2)
3. In which country is this woman a consumer? Motivate your
answer. (4)
(8]
Answers to activity 2
1. Due toinflation, the consumer can buy less for the same
amount Vv 2)
2. Declining Vv 2)
3. USA /V She is carrying US Dollars ($) in her basket v v/ (4)
[8]
Q Activity 3
e
Name any THREE fiscal measures to control inflation. (3 % 2)[6]
Answers to activity 3
Increase direct taxation (personal income tax) if inflation is due to
excess demandv v
* Increase indirect taxation (VAT) vV
* Aloan levy is introduced v v
e The state cuts back on expenditure v'v
* The finance budget deficit is non-inflationary v'v/
* Impose surcharges on imported goods v v/ (any 3) (3 X 2)
[6] Keep going!
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Tourism

Tourism is travel for the purpose of leisure, recreation or business. Local
tourists travel to different places in their own country. Inbound tourists
come to South Africa from other countries. South African tourists who
travel overseas are known as outbound tourists. South Africa is a popular
tourist destination because of its beauty, wildlife, good weather and its
interesting political history.
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Overview

Environmental
sustainability

Tourism:

* Definition

¢ Types of tourism

* Measuring tourism

¢ Reasons for its Growth
- International
- Domestically

* The Effects of Tourism on:
- GDP
- Employment
- Poverty
- Externalities
- Environment
- Investment

* The Benefits of Tourism for:
- Households
- Businesses
- State
- Infrastructure Development

¢ South Africa’s profile (indigenous
knowledge systems)

- South Africa’s Profile

- Aim with visits

- Local Destinations

- Local Tourists

- Indigenous Knowledge

¢ Policy Suggestions - Department of
Tourism

- Marketing, infrastructure, education
and training and environmental
management

TOPIC CONTENT CONTENT DETAILS FOR TEACHING, LEARNING
AND ASSESSMENT PURPOSES
13. Debate the economic importance of tourism
Tourism and to South Africa and suggest policies to
Economic promote it, also refer to the importance of
Redress: indigenous knowledge systems (IKS)

* Define/explain the relevant concepts
¢ Broadly outline the types of tourism
¢ Broadly outline the measuring of tourism

* Examine the reasons for growth in the
tourism industry in detail

¢ Examine the effects of tourism in detail

¢ Examine the benefits of tourism on:
Households, Businesses, Government and
Infrastructure development

¢ Broadly outline the tourism profile of South
Africa

¢ Broadly outline the Department of
Tourism’s policy suggestions
¢ Briefly analyse the relationship between

tourism and indigenous knowledge within
the South African context
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Use mobile
notes to help you
learn these key
concepts. Learn more
about mobile notes
on page xiv in the
introduction.

13.1 Key concepts

These definitions will help you understand the meaning of key Economics
concepts that are used in this study guide. Understand these concepts
well. Use mobile notes to help you remember them.

Term

Definition

Domestic tourist

South African citizens travelling within the borders
of South Africa

Department of Tourism

Ensures and accelerates (speeds up) the delivery
of tourism benefits

Foreign tourist

Visits a foreign country as a destination

Inbound tourist

Tourists from other countries (foreign tourists) who
stay for more than one day

Outbound tourist

South African citizens travelling abroad. They have
the same effect as imports on the balance of
payments

Tourism

Activities of people travelling to and staying in
places outside their usual environment for no
more than one year for leisure, business and other
purposes. It does not relate to any work done for
money in the place visited

Transit tourist

Tourists travelling through South Africa using
air, road, rail and sea transport to get to another
destination

13.2 Definition of tourism

Tourists travel to foreign countries for holidays, business, conferences
and to discover more about other countries. Tourism allows people
to experience the world. Tourism can be defined as activities of people
travelling to places outside their usual environment for less than one year
for business, leisure or other purposes without any remuneration.

An activity is seen as tourism if it fits in with the following criteria:

There is a purpose for the visit or activity.

There is no remuneration (money) earned in the place visited.

A minimum length of stay is one night.

A maximum length of stay is one year.

There is a travelling distance of more than 160 km from the tourist’s

home environment.
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13.3 The purposes (types) of
tourism

e Leisure and recreation: Tourists come to South Africa on holiday, to
play sport, to visit friends, and to see the tourist attractions

e Cultural tourism: Tourists come to visit museums and art galleries,
e.g. Robben Island and the Apartheid Museum.

* Ecotourism: Tourists visit undisturbed natural areas, e.g. the
Richtersveld Cultural and Botanical Landscape, the Cape Floral
Region Protected Areas and the Kruger National Park.

* Business and professional: Tourists visit for business meetings and
conferences.

e Other: For studies, or medical reasons.

o e~

L . (LT T

\

Ecotourism Business and professional

13.4 Measuring tourism

Tourism consists of different activities that should comply with the following:

e There should be a purpose for the visit e.g. camping, business or
studies.

* No remuneration should be earned at the tourist destination.

¢ A minimum length of stay should be one night.

* The maximum length of stay should not exceed one year.

* The travelling distance should exceed 160 km from a person’s
residence.

13.5 Reasons for growth

The rapid growth in the tourism industry has resulted in a steady change in
the standard of living as well as people’s lifestyles. Tourism is much more
evident in the developed than developing countries, although tourism is
increasing faster in the developing countries. Local tourism is booming
since South Africa is becoming more attractive as tourist destination.
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Use the acronym PIGEEE to
help you remember the 6
effects of tourism:

P — Poverty

| — Infrastructure
G- GDP

E — Employment
E — Environment
E — Externalities

Reasons for the growth of the tourism industry are:

e Increased disposable income.

* Less working hours so more time to travel.

* An awareness of leisure and recreation.

* Improved transport, communication and accommodation facilities.

* Increased advertising and promotion.

* Enjoying the benefits of holidays and travel.

* Easily obtainable foreign exchange.

* International: tourism is much more evident in the developed
than developing world, but tourism is growing faster in developing
countries, e.g. 4.6% growth from 2010 to 2011.

e Locally:

- Foreign arrivals: foreign tourists who visit the country as their
destination.

- Those who are stopping over, are called transit tourists or same-
day travellers.

- Foreign tourists: come for the experience - visit friends, game
farms, enjoy the different cultures, heritage spots or sports
activities and events.

- Domestic tourism: South Africans are free to travel locally
(domestic tourists) or abroad (outbound tourists). Outbound
tourists have the same effect on the Balance of Payments as
imports.

13.6 The effects of tourism

Tourism has a significant effect on the economy and the country as a
whole. The following 6 areas are greatly affected by tourism:

13 6.1 Employment

Tourism employs 7% of South Africa’s workforce (approximately
1,12 million people).
* Tourism is the largest provider of jobs because it:
- Is labour intensive.
- Employs many different kinds of skKills, e.g. tourist guides, hotel
staff.
- Provides immediate employment.
- Provides entrepreneurial opportunities.
* Tourism is the largest earner of foreign exchange because:
- Foreign tourists pay for services in foreign exchange.
- Foreign tourists usually spend more than local tourists.

13.6.2 Gross domestic product
(GDP)

Tourism has the biggest impact on the services industry.

* Indirect contribution: Tourism is a service-based industry. It is
responsible for 65% of the GDP in developed economies and 40% of
the GDP in developing countries.

* Direct contribution: Tourism contributes 7,9 % of GDP in South Africa
(compared to 12% worldwide).
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13.6.3 Poverty

Poverty is most evident in rural areas due to a lack of job opportunities.

Tourism can alleviate (ease) poverty in the following ways:

e Tourism is a fast and effective mechanism for distributing resources
to rural areas to develop them as tourist sites.

e Many prime tourist attractions are located in rural areas.

e Tourist developments in rural areas increase the number of available
jobs in areas where there aren’t many jobs.

¢ Tourism promotes a balanced and sustainable form of development.
People are able to earn a living in their home areas, resulting in a

reduction in urbanisation and a more balanced population distribution.

13.6.4 Externalities

Externalities are costs and benefits that result from a specific activity.

Tourism results in both:

Positive externalities:

e Tourism attracts large amounts of revenue.

¢ Tourism leads to an improvement in infrastructure development.

* Tourism can stimulate employment indirectly.

e Tourism can help conserve cultural and natural assets and alleviate
poverty, but needs to be carefully planned.

Negative externalities:

* Tourism can cause environmental damage if not managed correctly.

e Tourism can result in a lot of waste and damage to sensitive tourist
sites.

e The infrastructure at tourist sites can come under pressure to cater
for increased tourist numbers.

¢ Tourism can lead to increased prices for locals.

13.6.5 The environment

Tourism can create environmental stress. It can result in:

e Permanent restructuring of the landscape, e.g. construction work on
highways.

e Additional waste products, e.g. biological (sewage) and non-biological
(litter) waste.

e Direct environmental stress, e.g. the loss of wildlife species due to
safari hunting.

e Effects on population dynamics, e.g. migration and changes in
population density in response to the needs of tourist sites.

13.6.6 Investment

Tourist destinations require adequate physical (hotel rooms), economic

(ATMs) and basic (water and electricity) services infrastructure. This includes:

* Transport infrastructure, e.g. improved roads are needed to access
tourist sites.

¢ Communication infrastructure, e.g. hotels need telephone lines to
take bookings at tourist sites.

* Energy infrastructure, e.g. tourists need electricity at tourist sites.

e Basic services, e.g. clean water and refuse removal.
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Use this mnemonic to help
you remember the 4 benefits
of tourism:

H — Households — HOT

B — Businesses — BEACHES
| — Infrastructure — IN

G — Government — GEORGE

13.7 The benefits of tourism

South Africa benefits from tourism through the growth in the gross domestic
product (GDP), employment and infrastructure development. An additional
benefit is that spending by foreign tourists results in an increase in foreign
exchange earnings, which has a similar impact on the GDP to an increase
in exports.

13.7.1 Households

Tourism benefits a household’s prosperity (wealth) in three ways:

* More people earn salaries and wages because of additional job
opportunities.

* Infrastructure built for tourists is available both for tourists and local
people’s use.

*  Skills: A variety of skills is required in the tourism industry.

13.7.2 Businesses

Tourism has many benefits for the business sector:

e The economic and basic services infrastructure required for tourism
is provided by the public sector.

e Tourism needs superstructure, which consists of businesses that
provide accommodation, transport, built attractions, retailing and
recreation services.

e Superstructure is normally supplied by the private sector, and the
building and running of the superstructure make profits.

e Public and private sector partnerships (PPPs) are used to develop
tourist destinations.

*  Other work opportunities become available for the previously
disadvantaged. These include:

- Employment opportunities in entertainment, laundry and
transportation.
- Business opportunities in car rental, arts, craft and curio sales.

13.7.3 Government

The main benefit to government is in the levying (charging) of taxes. This

has two purposes:

* To recover external costs: To compensate the host community for
providing infrastructure.

* To raise revenue: Tourists are seen as part of the overall tax base
(e.g. airport departure taxes and hotel tourism levies increase the
amount of taxes collected).

13.7.4 Infrastructure development

South Africa benefits from tourism because all infrastructure built to

support tourism becomes an asset to the country.

As a result:

* Residents and visitors enjoy adequate and well-maintained physical
and basic services infrastructure.

* The Department of Transport prioritises economic infrastructure.
Spatial Development Initiatives and economic corridors focus on
tourism, and public and private sector partnerships (PPPs) are used
for the development of infrastructure.
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¢ Tourists require social infrastructure - ambulances, medical clinics,
police protection services and information services - that becomes a
national asset.

13.8 A South African tourism profile

1. Aim with visits: most foreign tourists visit South Africa for vacation
(94.3%) and business (2%). The major attractions are the coast,
wildlife and scenery.
2. Local destinations: Destinations link all aspects of tourism -
demand, supply, transport, accommodation and marketing. The
success of tourism is determined by the variety of destinations as
well as the geographical distribution of tourist destinations.
3. Local tourists: There has been a steady growth in the number of
South Africans travelling domestically.
4. Indigenous knowledge
* Tourists want to understand the indigenous (local) culture,
history and environment.

* Tourists seek authentic (genuine) and unique destinations. They
want to see how local people live and work.

e The Khoi San are among the world’s oldest people, and their way
of life is of interest to many foreign tourists.

World heritage sites:

e  Mapungubwe (Limpopo)

¢ Vredefort Dome (Free State and North West)

e Sterkfontein caves

* Robben Island

¢ Richtersveld Cultural and Botanical Landscape

Environmental World Heritage Sites:

* iSimangiliso Wetland Park (ecosystems)
e Cape Fynbos Region

e uKhahlamba Drakensberg Park

13.9 Tourism policy suggestions

The Department of Tourism leads and directs tourism policy. The starting
point for policy on tourism is the White Paper on Tourism. Tourism policy
is also supported and directed by the Tourism Forum, which is an advisory
body to the Minister of Tourism. Some tourism policy initiatives include the
following:

This is an easy
topic. Memorise at
least 4 facts under
each heading.

13.9.1 Marketing

SA Tourism was created to promote tourism internationally and nationally

* Nationally: SA Tourism persuades South African citizens to travel in
their own country.

* Internationally: Marketing initiatives try to ensure South Africa is
selected as a tourist destination. Foreigners visit our country for the
following reasons:

- Value for money
- The world in one country
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- South Africa’s political miracle

- The climate

- Safety

- The friendliness of South Africa’s people

- The cleanliness and tranquility (peace) of our tourist destinations

13.9.2 Directing tourists’ spatial distribution

Three approaches are followed to distribute tourists effectively to the many

tourist sites:

e Create representative bodies: Tourist-based industries are linked
to form representative bodies. Tourists can then easily access
knowledge about all tourist destinations.

* Improve marketing: Tourists receive accurate product descriptions
and information about competitive prices. Less well-known
destinations are aggressively marketed.

* Improve supporting services: The standards of transport,
accommodation and other amenities (facilities and services) are
world class.

13.9.3 Taxation

Growth in tourism results in increased tourist taxes. Guidelines for levying

taxes are:

* Equity: Taxes must be fair, e.g. taxes on air tickets.

* Efficiency: Nature and game reserves charge entry taxes to regulate
tourist flows.

* Simplicity: A flat tax rate is used to ensure taxes are easy to pay and
administer.

13.9.4 Infrastructure

Tourism requires economic infrastructure (roads), social infrastructure
(ambulances) and basic services (clean water):
* Infrastructure is maintained for the benefit of domestic and foreign
tourists, as well as local citizens.
* The basic considerations are:
- More infrastructure is required, e.g. water supplies.
- Existing infrastructure must be upgraded, e.g. upgrade dirt roads
to tarred roads.
- Use new technology to extend the infrastructure, e.g. build the
Gautrain.
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Q Activity 1

s
Study the diagram below and answer the questions that follow:

| am an inbound
tourist! I’'m an outbound
tourist!

R
TXY

‘_‘
Py

o
e

A

1. Define the concept tourism. 4)

2. Explain the difference between an inbound and an outbound

tourist. 4

3. List any THREE World Heritage Sites in South Africa. (3
4. Discuss the effect of tourism on infrastructure. (4 x2)(8
[19

Answers to activity 1

1. Activities of people travelling to and staying in places v outside of
their usual environment for no more than one consecutive year v/
for leisure, business and other purposes. v It does not relate to
any work done for money in the place visited. v/ (4)

2.

Inbound tourist | Tourists from other countries v who stay for more than
one day v are inbound tourists (foreign tourists).

Outbound tourist | South African citizens travelling abroad v have the

same effect as imports on the balance of payments. v/

(4)

3. Mapungubwe in Limpopo v Vredefort Dome (meteorite) in North
West v Sterkfontein caves (Mrs Ples and Cradle of Humankind) v/
Robben Island v/ (any 3) (3)

4. Tourism requires economic infrastructure (roads), social
infrastructure (ambulances) and basic services (clean water). v/
This infrastructure needs to be maintained for local citizens,
domestic and foreign tourists. v/

Basic considerations for infrastructure development are:

- More infrastructure (e.g. water) v'v/

- Upgrading (e.g. upgrade dirt roads to tarred roads) v'v/

- New technology (e.g. transport) v'v' (8)
[19]
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Q Activity 2

—v

Choose the correct answer from the following alternatives:

Tourism is intensive.
A. Labour
B. Capital
C. Risk
(2]

Answer to activity 2
A. Labour vV

[2]

Q Activity 3
e

Choose the correct answer from the following alternatives:

Tourism benefits the household through
A. Lower incomes
B. Lower productivity
C. More infrastructure
[2]

Answer to activity 3
C. More infrastructure v'v/

[2]

Keep going!
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Environmental
sustainability

Environmental sustainability relates to the ability of the environment to survive
its use for economic activity. The environment is not an unlimited resource and
it is important that we sustain the environment so that it can be used by future

generations.

Overview

Environmental
sustainability

Janeiro and Johannesburg summits

¢ The State of the Environment
- Pollution
- Definition
- Types
- Erosion, deforestation and climate
change

- Conservation
- Preservation

¢ Measures to Ensure Sustainability
- Using the market

- The market does not take care of
social costs and benefits

- The market fails because of specific
reasons

- The mechanism of market and social
costs and benefits

TOPIC CONTENT CONTENT DETAILS FOR TEACHING,
LEARNING AND ASSESSMENT PURPOSES
14. Analyse environmental sustainability and
Basic economic investigate recent international agreements
problem: in this regard, for example, the Rio de

¢ Define/explain the relevant concepts
» Briefly discuss the state of environment

¢ Examine the measures to ensure
sustainability in detail

HOT QUESTION: How effective are the
South African government’s interventions
with regard to environmental
sustainability? Motivate your response!
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Government Interventions
- Give property rights
Pay for environmental use

Levying of environmental tax

Pay for environmental subsidies

Issuing of marketable permits
Public sector control

- Command and control

- Voluntary agreements

- Education

International

- Sustaining biodiversity

- Chemical waste

- Hazardous waste

- Climate change policy - adaptation
and mitigation

- Loss in indigenous knowledge

* Major International Agreements

Rio de Janeiro summit (UNCED)
Johannesburg summit (WSSD)
Rio + 20 summit
Kyoto-protocol

Millennium Development Goals

United Nations Framework Convention
on Climate Change (COP 17)

¢ Distinguish between the concepts,

protocol and agreement

¢ Briefly discuss the major protocols in

terms of the following:
- Name of the agreement

- Environmental issue to be addressed
by the agreement/protocol

- Envisaged outcome of the
agreement/protocol
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14.1 Key concepts

These definitions will help you understand the meaning of key Economics
concepts that are used in this study guide. Understand these concepts
well. Use mobile notes to help you study them.

Use mobile
notes to help you
learn these key

Terms Definitions concepts. Learn more
about mobile notes
on page xiv in the

Command and The direct regulation of an industry or activity through introduction.
Control (CAC) laws that state what is allowed and what is illegal
Conservation Seeks creative continuity of the environment, while

ensuring that environmental change considers the
quality of life for both present and future generations

Environmental The ability of the environment to survive its use for
sustainability economic activity. It refers to meeting the needs of
the present generation without compromising the
needs of future generations

Pollution Emissions which flow into the natural environment
from human activity, and which are beyond the
capacity of the environment to absorb

Preservation To keep resources that are non-renewable intact,
e.g. ecological systems, heritage sites

The United Nations UNCED was held in 1992 and is known as the Earth

Conference on Summit. The goal of UNCED was to create strategies

Environment and to stop and reverse the effects of environmental

Development degradation (damage), and to support international

(UNCED) efforts to promote sustainable development in all
countries
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14.2 The state of the environment

The state of the environment is very important for environmental
sustainability. If the environment is damaged, it will become more difficult
to sustain life on earth. The environment can be damaged by excessive
(too much) mining; by farming without allowing the soil to recover; by
excess fishing without allowing the fishing stocks to build up again; and by
not controlling the release of pollution.

14.2.1 Pollution

Pollution relates to the introduction of contaminants (poisons) that damage

the natural environment. Pollution can come from chemical substances

released by factories, as well as from household and business waste
and rubbish. Pollution policy is difficult to apply in practice. The following
are 3 ways of dealing with pollution:

* Technology and control: New technology is cleaner and has less
impact on the environment. The government controls pollution by
limiting the use of older technologies that pollute the environment.

* Marginal decisions: These are decisions made by government on
what acceptable levels of pollution are. If the government is too
tolerant, or makes its decisions in the interest of expanding business
rather than sustaining the environment, then pollution levels can rise
to the point where they damage the environment.

* Self-interest: For example, keeping a beach litter-free. People use
dustbins on the beach because they want to use a beach that is
clean.

14.2.2 Conservation

Conservation relates to the preservation (looking after) of natural

resources to ensure they are not completely used up and disappear from

the environment. Conservation is necessary due to pollution and the over-

utilisation (using too much) of resources:

The conservation of stocks (resources):

e Conservation is needed when stocks are utilised (used) more than
they can reproduce to replace what has been used.

* This leads to a search for substitutes.

* Conservation policies help to conserve renewable stocks (e.g. trees)
and non-renewable stocks (e.g. fossil fuels).

Maintaining renewable stocks:

* A market economy has an interest in conservation as it helps
maintain renewable stocks, e.g. timber and fishing. Conservation
is achieved through the force of demand and supply which helps to
sustain these kinds of industries.

* Direct controls: The government maintains the stock levels of
environmental resources through the issuing of permits and quotas.
For example, the government sets quotas for fishing to stop catches
being so large that they exceed (are bigger than) the growth of the
fish population. It also sets quotas for cutting down trees to ensure
deforestation does not exceed the rate of renewal.
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14.2.3 Preservation

Preservation is linked to conservation. It is about preserving existing
assets to ensure they do not get used in a way that is destructive to the
environment.

* Private property: A game reserve may be sold to a businessman to
be used for farming. But the government can intervene and stop the
sale because they recognise the importance to the environment of
preserving game reserves.

* Preservation requires compromise (give and take): Farmers may
develop their river mouth as a holiday resort. If this is not controlled,
and too many other farmers do the same, the entire ecosystem will
be damaged, and animal and plant life will be negatively affected.

e Government policy: Government intervenes to preserve
environmental assets by:

- Buying, confiscating, expropriating (taking ownership) or
nationalising resources, e.g. indigenous forests.
- Subsidising key resources, e.g. privately owned ecosystems.

14.2.4 Externalities

Externalities imply costs and benefits that were not planned for.

* The extra costs and benefits of externalities are not factors when the
state of the environment is assessed.

* Goods that have negative externalities such as air and water
pollution are generally oversupplied in the market.

¢ When businesses are expected to bear the cost of equipment to
reduce pollution, it could have a positive externality on others.
Businesses tend to spend little on pollution abatement equipment
due to its limited marginal private benefit. The major role of
government, regarding the environment, is to correct inefficiencies
arising from externalities.
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Use this mnemonic to help
you remember the
5 controlling mechanisms

M — Market — Make

| — Intervention — It

C — Control — Count

M — Measures — More

A — Agreements — Always

14.3 Measures to ensure
sustainability

It is important for governments to take steps to ensure sustainability.
Sometimes, businesses are driven by self-interest, and they see nothing
wrong with using all available resources if they can make a profit from
them. There are 5 controlling mechanisms to ensure sustainability:

14.3.1 The market

The market is driven by self-interest. The market considers the environment
as an asset to be used for its own benefit. Sustainability is achieved in the
free market only to the extent that resource prices rise as they become
scarce (less available), and through the development of environment-
friendly technology.

There is a social interest in using the environment, not only to the direct
producer/consumer, but also to people in general, now and in the future.
This means we all have an interest in preserving the environment.

Reasons why the market fails to ensure sustainability:

* The market sees the environment as a common resource.

e Externalities such as air pollution caused by factories cannot be
stopped without restrictive policies.

* Lack of knowledge: Businesses cause damage without realising it,
e.g. companies making aerosol cans (such as spray-on deodorants)
and did not know the damaging effect they had on the ozone layer.

* Carelessness: People continue with harmful practices and leave
future generations to worry about the consequences.

Optimum market decisions

* Market mechanisms have failed when market forces fail to produce
the desired result of environmental sustainability.

¢ All costs and benefits are not captured in the market price. The
future cost of the resource disappearing is not often considered.

14.3.2 Public sector intervention

Public sector intervention aims to achieve social efficiency. This occurs
through:

Granting property rights:
* The conservationist effect: People care for things that belong to
them.

* To prevent fauna and flora species from becoming extinct, people are
granted property rights if they agree to preserve the flora and fauna.

*  Property rights can be expanded to common goods such as clean air.

e The Kyoto Protocol is an international agreement whereby developed
countries pay developing countries for their right to pollute.

Charging for the use of the environment:

* Price the environment: The government levies fees for waste
produced and dumped in the environment.

* In South Africa, local authorities levy charges on rubbish collection
and sewage disposal.
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e The best results are achieved when charges are proportional (related
to) to waste produced.

Environmental taxes:

* Environmental taxes are taxes imposed on the output of goods that
generate external environmental costs (pollution). These are called
green taxes.

e Carbon dioxide emissions from wineries and vehicle tyres are taxed.
The tax rate is equal to the marginal external cost.

Environmental subsidies:

e Subsidies are granted to businesses to reduce environmental
damage, e.g. the government subsidises new technology that saves
energy, such as energy-saving light bulbs or solar geysers.

Marketable permits:

* The government gives each business a licence to pollute to a certain
degree.

* Businesses sell their licences to other businesses.

¢ In South Africa, marketable permits are granted by the Department
of Minerals and Energy.

14.3.3 Public sector control

When government environmental policies don’t produce positive results,
the government takes direct control through Command and Control (CAC)
systems:

Command and Control (CAC):

* The government enforces policy by setting maximum levels of the
emission of pollution.

* Most developed countries have regulations that control air and water
pollution.

There are 3 approaches in CAC systems:

* Quantity standards: These focus on the amount of pollution emitted.

* Quality standards: These focus on the environmental impact of the
pollution emitted.

* Social impact standards: These focus on the effect on people of the
pollution emitted.

Voluntary agreements:
e The government concludes agreements with businesses on a
voluntary basis to cut pollution.

Education:

* Education is used to try to change people’s attitudes towards the
environment.

* Innovative approaches have been tried in the developing world to
educate people, e.g. setting up community wildlife reserves.
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14.3.4 International measures

Environmental problems are global problems. For example, pollution
from motor vehicles and the greenhouse effect have an impact on the
entire world. Polluted air and water moves from one country to another,
and if the ocean is polluted in America, it can affect beaches in Australia.
International measures have been implemented to deal with the following
5 environmental problems:

Biodiversity loss:

* |f species become extinct (die out completely), this cannot be
reversed.

e Modern techniques such as gene transplants can limit the loss of
species.

* The Convention on International Trade in Endangered Species
(CITES) sets many policies to deal with species loss.

Chemical waste:

* Chemical waste is toxic (it has a negative effect on living beings and
can cause infertility or death).

* Chemical waste needs to be carefully managed to ensure it does not
seep into the ground water.

* The Stockholm Protocol is a United Nations agreement to limit
chemical waste.

Hazardous waste:

* Hazardous waste is highly toxic. It has a slow decomposition rate (it
stays poisonous for a very long time).

e The most hazardous (dangerous) waste is radioactive waste from
nuclear power.

* The Basel Convention is an international agreement to manage
nuclear waste. South Africa is a signatory to the agreement.

Climate change:

* Global warming primarily causes climate change.

* Climate change can be reversed through widespread international
co-operation, e.g. sharing weather information and weather patterns;
agreeing to limit pollution; and banning chemical products such as
greenhouse gases that damage the ozone layer.

* The Kyoto Protocol of 1997 is an international agreement to limit the
production of greenhouse gases, because voluntary reductions of
carbon dioxide levels did not succeed.

Loss of indigenous knowledge:

* Indigenous people have a lot of knowledge about the natural
environment, which they use to make a living.

* Indigenous people traditionally used organic methods and natural
processes.

* Asindigenous people lose their habitats or are urbanised, this
knowledge is disappearing and is being lost to the world forever.

* Local capacity-building is very important for the environmental
sustainability of indigenous people, i.e. finding a way for them to earn
a living in their traditional environment.

© Department of Basic Education 2014
198 CHAPTER 14 ENVIRONMENTAL STABILITY Mind the Gap CAPS Grade 12 Economics



14.3.5 Major international agreements

Since the 1990’s the United Nations has convened various meetings
with all countries worldwide on issues affecting them. They should take
responsibility for the management of these issues.

¢ Rio de Janeiro summit (UNCED): This summit took place in
1992 with the objective of sustainable development. Envisaged
outcomes included: environmental protection as an integral part
of development, cooperation to conserve, protect and restore
the health of the ecosystem, prevent environmental degradation
where the polluter should bear the cost of pollution and assess the
environmental impact.

* Johannesburg summit (WSSD): Hosted in 2002 in Johannesburg on
Sustainable Development. Envisaged outcome of the programme
includes: poverty eradication, changing unsustainable patterns of
consumption, globalisation, health and the environment.

* Rio +20 summit: Also known as die United Nations Conference on
Sustainable Development took place in Brazil. The main issue was
sustainable growth and poverty eradication without damaging the
environment. It was agreed that a green economy would be one of
the tools for sustainable development. Sustainable development
goals covering economic, social and environmental aspects will
replace the MDG from 2013.

*  Kyoto-protocol: This conference held in 1997 in Kyoto, established
legally binding obligations whereby industrialised countries agreed to
reduce their emission of six greenhouse gases.

¢ Millennium Development Goals: Communities depend on healthy
ecosystems to survive and prosper. Some of the MDGs are:
eradication of extreme poverty and hunger, achieve universal primary
education, gender equality, reducing child mortality rates, improve
maternal health, combat HIV/Aids and other diseases and create a
global partnership for development.

* United Nations Framework Convention on Climate Change (COP 17):
The 17th Conference of the Parties was held in Durban where the
following decisions were taken:

- Commitment to the Kyoto Protocol and reducing pollution by
greenhouse gases.

- A Green Climate Fund to help developing countries to establish
cleaner sources of energy and to adapt to climate change.

- An Adaptation committee of 16 members to report to COP
18 on the improvement of the ability of the poorest and
most vulnerable countries to adapt to climate change, better
protection and help against losses and damage related to
climate change.

)

Y

The Kyoto conference was
held in Japan in 1997 and
focused specifically on climate
change. It resulted in the Kyoto
Protocol which attempted to
get the developed countries

to commit to reducing their

emission of greenhouse gases.
N /
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Q Activity 1

4
Study the following sign and answer the questions that follow:

Warning

Chemical waste

1. What environmental hazard is depicted in the above logo? (1)
2. Explain in your own words how the above can threaten the
environment. (3)
3. Name an international protocol which addresses this hazard. (2)
[6]
Answers to activity 1
1. Chemical waste v/ (1)
2. Pollution of water resources which can be very harmful to
humans v plants and animals v/ (3)
3. The Stockholm Protocol v'v/ (2)
[6]

You are there,
well done!
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Appendix:
Exemplar exam
papers

The 2014 Economics exams have a new format in line with CAPS. The
Department of Basic Education has offered an example of Economics

Paper 1 and Paper 2 with marking memoranda.

Use this exam paper and marking memorandum to help you prepare for

your exams:

1.

2.

Answer the questions in the exam. Time yourself so you complete it
within 1% hours (which is the time you will have in the real exam).
Treat each one as a ‘real’ exam by making sure you have all the
materials you need (pens, pencils, eraser, protractor and calculator).
This exercise is meant to test your knowledge - so don’t cheat
yourself by looking up the answers provided in the marking
memoranda before you’'ve finished each exam.

Use the memoranda to check whether or not your answers are
correct. Note where you have got answers wrong - these are the
sections of the curriculum that you need to do more work on. Go
back to your textbooks and to the relevant sections of this study
guide, and spend time learning the sections for which you got the
lowest marks.

And remember: success depends on practise, practise, practise, and
then more practice! Repeat this exercise as often as you can so that
you fly in your year-end exams!
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The Mind the Gap study guide series assists you to make the leap by studying
hard to achieve success in the Grade 12 exam.
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